
1 

LISTA DE PRODUTOS REGISTRADOS NA ANVISA - PARTE I - EQUIPAMENTOS MÉDICOS 

1. EQUIPAMENTO DE IMAGENOLOGIA 

Nº Produto Foto Ilustrativo Especificações Técnicas REFERENCIAIS 

1-1 CT 

Gantry Aperture: 700 mm diameter 
Gantry Tilt: -30° to +30°; 
X-ray Tube: 4.0MHU
X-ray generator: 28KW
Detectors: Solid GOS detector 32 rows
Advanced Iterative Reconstruction Algorithm to lower patient dose.
Comprehensive programs and applications

1-2 CT 

Gantry Aperture: 720 mm diameter 
Gantry Tilt: -30° to +30°; 
X-ray generator: 50KW
X-ray Tube: 5.3MHU 
Detectors: Solid GOS detector 32 rows
Advanced Iterative Reconstruction Algorithm to lower patient dose.
Comprehensive programs and applications

1-3 CT 

Gantry Aperture: 720 mm diameter 
Gantry Tilt: -30° to +30°; 
X-ray Tube: 5.0MHU 
Detectors: Solid GOS detector 32 rows 
Number of slice: 64 slices 
Advanced Iterative Reconstruction Algorithm to lower patient dose. 
Full cardiac applications 

1-4 CT 

Gantry Aperture: 720 mm diameter 
X-ray Tube: 8.0MHU 
X-ray generator: 80KW
Detectors: Solid GOS detector 64 rows
Number of slice: 128 slices
Advanced Iterative Reconstruction Algorithm to lower patient dose.
Full cardiac applications

1-5 MRI 

A digital superconductive 1.5T magnetic resonance imaging system for whole 
body diagnostic purposes,  24 channels receiving platform, Zero helium boil- 
off technology, FOV≥50 x 50 x 50cm, Gradient strength ≥35mT/m, Gradient 
slew rate ≥136mT/m/ms, Excellent homogeneity provide foundation high- 
performance applications, such as BrainQuant, Total Spine Imaging, DIXON, 
Diffusion Tensor, PWI, ASL and MRS. 

1-6 MRI 

A digital superconductive 1.5T magnetic resonance imaging system for whole 
body diagnostic purposes, 16 channels receiving platform, Magnet 
Length157cm, Zero helium boil-off technology, Highest gradient strength 
35mT/m & gradient slew rate 136mT/m/ms, Abundant comprehensive, 
rapid, high quality clinical applications. 

1-7 MRI 

A high homogeneity permanent magnet, and integrated with high-field MRI 
technology, High magnet homogeneity, <1.8ppm over a 36cm DSV, Gradient 
strength: 26mT/m, slew rate：67mT/m/ms, 4 channels RF system- high SNR 
and extended anatomical coverage.  Advanced applications such as DWI 、 B- 
FFE3D、DIXON、Dynamic enhancement curve. 



2 

1-8 PET/CT 

Automatic detection and precise qualification. 
Single-button control, 5 minutes to complete quality control. Convenient 
operation, Omin-directional detectors to detect and ensure the equipment is in 
an optimum state. 
An Intelligent process. Anatomical Position, Protocol, User friendly ( UI) . A 
key to scanning mode. Real-time Monitor. 

1-9 MAMÓGRAFO 

O mamógrafo, com seu braço isocêntrico, possibilita ao radiologista obter 
imagens de excelente qualidade e alta precisão diagnóstica. Possui tubo de 
raios-x com alta qualidade e durabilidade, com filtro de molibdênio como 
configuração padrão e o filtro de ródio disponível como opcional. O sistema de 
compressão conta com dispositivo motorizado, controlado por meio de pedais, 
e sofre ajuste automático ao se deparar com a densidade de cada mama. 
Possui também um botão controlador rotativo que permite o ajuste fino da for 
ça de compressão. 
O sistema é compatível com todos os modelos de digitalizadores CR 
(radiologia computadorizada) disponíveis no mercado. 

1-10 APARELHO DE RAIO X 
DIGITAL FIXO 

O equipamento de raios X digital integrado para aplicação em radiodiagnó 
stico possui: gerador de alta frequência de 54 kW, 150 kV e com faixa de mA 
de até 630, com mesa fixa de tampo flutuante que suporta até 220 kg. 
Estativa porta tubo, bucky mural, tubo Canon E7252. Console de Operação 
AeroDR 35X43 cm plataforma completamente integrada que combina o 
registro do paciente, a aquisição digital de imagens e tem fluxo de trabalho 
simplificado. Monitor de 23 polegadas touchscreen. Cabos de alta tensão do 
raios x, quadro elétrico, nobreak e grades para o raios x. 

1-11 APARELHO DE RAIO X 
DIGITAL PORTÁTIL 

High frequency high voltage generator≥32KW. The 125um pixel size and the 
9.5 million pixel matrix are both the highest indicators in the industry. Dual- 
battery packs independent power supply system. Pixel pitch：≤125μm, Pixel 
matrix：≥2800×3408. Image stitch: such as full spine display, long leg  
display etc. 

2. MONITORES E OXÍMETROS 

Nº Produto Foto Ilustrativo Especificações Técnicas REFERENCIAIS 

2-1 Vital Signs Monitor 
1. 3.5 inches color TFT-LCD screen 2. Less than 3kg weight 3. Available
parameters: SpO2, NIBP, PR, Quick Temp, Infrared Ear Temp 4. 12000
groups data storage 

2-2 Modular Patient Monitor 

1. 12.1/15/17 inches TFT-LCD touch screen 2. Standard parameters: 3/5-lead
ECG, RESP, SpO2, NIBP, 2-TEMP, PR, 12-lead ECG, Nellcor SpO2,
SunTech NIBP, 2-IBP, CO2 sidestream 3. Optional parameters: IBP, C.O.,
ICG, EDAN G2 CO2(sidestream), Respironic CO2 (sidestream/mainstream),
Masimo AG/O2(sidestream/mainstream), Drager AG/O2,  BIS,  RM  4. 
VGA/DVI output and analog output 5. Interact with HIS/EMR via HL7, bi-
directional communication with MFM-CMS 

2-3 Patient Monitor 

1. 8.4/10.4/12.1/15 inches TFT-LCD screen, optional touch  screen  2. 
Standard parameter: 3/5-lead ECG, RESP, SpO2, NIBP, 2-TEMP, PR 3.
Optional parameters: 12-lead ECG, Nellcor SpO2, SunTech NIBP, 2-IBP, 4-
IBP, C.O., Quick TEMP, EDAN G2 CO2, Respironics CO2, Masimo AG/O2,
Drager AG/O2 4. VGA/DVI output and analog output 5. Interact with HIS/EMR 
via HL7, bi-directional communication with MFM-CMS 



3 

2-4 Patient Monitor 

1. 8/10.1/12.1 inches TFT-LCD screen, optional touch screen 2. Standard 
parameter: 3/5-lead ECG, RESP, SpO2, NIBP, 2-TEMP 3. Optional 
parameters: 6/12-lead ECG, IBP, C.O., EDAN G2 CO2 4. Interact with 
HIS/EMR via HL7, bi-directional communication with MFM-CMS 

2-5 Pulse Oximeter 
1. Measuring parameter: SpO2, PR 2. Light weight 165g 3. Battery duration 
time > 48h 4. 300 hours data storage 5. Large numeric and waveform display 
mode 

3. ELETROCARDIOGRAFIA 

Nº Produto Foto Ilustrativo Especificações Técnicas REFERENCIAIS 

3-1 Eletrocardiograph 

1. 3.5 inches LCD screen 2. 2kg weight 3. 12 standard leads, HR range: 30- 
300bpm, CMRR≥110dB, sampling frequency 1000Hz, A/D converter 12 bits; 
4. 3 hours continuous printing, 330 ECG reports storage 5. Optional 
PDF/XML/DICOM/FDA-SCP report format 

3-2 Eletrocardiograph 

1. 5 inches LCD touch screen 2. 1kg light weight 3. 12 standard leads, HR 
range: 30-300bpm, CMRR≥140dB, sampling frequency 16000Hz, A/D 
converter 24 bits; 4. 5 hours continuous printing, 500 ECG reports storage 5. 
Optional PDF/XML/DICOM/FDA-SCP report format 

3-3 Eletrocardiograph 

1. 5.6 inches LCD screen 2. 3kg weight 3. 12 standard leads, HR range: 30- 
300bpm, CMRR≥140dB, sampling frequency 16000Hz, A/D converter 24 bits; 
4. 1.5 hours continuous printing, 300 ECG reports storage 5. Optional 
PDF/XML/DICOM/FDA-SCP report format 

3-4 Eletrocardiograph 

1. 12.1 inches LCD touch screen 2. 6.5kg weight 3. 12 standard leads, HR 
range: 30-300bpm, CMRR≥140dB, sampling frequency 16000Hz, A/D 
converter 24 bits; 4. 2.5 hours continuous printing, 350 ECG reports storage 
5. Support Stress test(optional) 6. Optional PDF/XML/DICOM/FDA-SCP 
report format 

3-5 Eletrocardiograph 

1. 8 inches LCD screen, optional touch screen 2. 5kg weight 3. 12 standard 
leads, HR range: 30-300bpm, CMRR≥140dB, sampling frequency 16000Hz, 
A/D converter 24 bits; 4. 1.5 hours continuous printing, 300 ECG reports 
storage 5. Optional PDF/XML/DICOM/FDA-SCP report format 

3-6 Eletrocardiograph 

1. 8 inches LCD screen, optional touch screen 2. 5kg weight 3. 12 standard 
leads, HR range: 30-300bpm, CMRR≥140dB, sampling frequency 16000Hz, 
A/D converter 24 bits; 4. 1.5 hours continuous printing, 300 ECG reports 
storage 5. Optional PDF/XML/DICOM/FDA-SCP report format 

3-7 PC ECG 

1. DP12 wired sampling box, support 12/9-lead, DE18 wired sampling box, 
support 18/16/15/12/9-lead + SE-1515 data management system 2. Optional 
stress ECG 3. Multi-format reports: DPF/XML/SCP/DICOM 4. HL7/DICOM 
protoco with worklist support 

3-8 Holter 

1. Holter recorder + holter software solution 2. IP27 waterproof and dustproof 
3. 3/12-lead digital recording 4. Real-time waveform display 5. Pacemaker 
detection 6. Optional function: Vector ECG, Ventricular late potentials, T-wave 
Alternans, Waterfall plot function supported. 



4 

4. MATERNO INFANTIL 

Nº Produto Foto Ilustrativo Especificações Técnicas REFERENCIAIS 

4-1 Central monitoring system 

1. Connection of up to 128 bedside fetal/maternal monitors 2. Built-in 
antepartum CTG & NICHD analysis function 3. Large capacity of storage up 
to 100,000 records 4. Export PDF & JPG format report 5. HL7 support 6. 
Windows 10 Compatibility 

4-2 Ultrasonic Pocket Doppler 
1. Built in speaker 2. 3MHz probe detects fetal heart beat 3. Normal AA 
batteries, working duration>6h 4. <180g weight 5. FHR measurement range 
50-240bpm 

4-3 Fetal Monitor 

1. F2&F3: 5.6 inches screen display; F6: 10.1 inches; F9: 12.1 inches touch 
screen 2. Weight: F2&F3: 3.5KG; F6: 5.3kg; F9: 5.5kg 3. F2&F3&F6: 8 
crystal - ultrasound transducer; F9: 12 crystal - ultrasound transducer 4. 
Optional function DECG & IUP 5. AFM/MFM 6. IPX8 waterproof transducer 

4-4 Fetal&Maternal monitor 1. Support fetal parameter & maternal parameter (ECG, HR/PR, NIBP, SpO2, 
TEMP 2. Optional function DECG & IUP 

4-5 Video Colposcope 

1. Magnification: C3A: 1-28X; C6A: 1-36X; 2. Light source: White loop group 
LED light 3. Support vertical stand/swing arm stand 4. Manual/Auto focus 
mode 5. 3 levels white level, 3 levels green electronic filter 6. Video output: s- 
video 

5. ULTRASSOM 

Nº Produto Foto Ilustrativo Especificações Técnicas REFERENCIAIS 

5-1 Digital Ultrasonic Diagnostic 
Imaging System 

Portable ultrasound 1. 12.1 LCD screen with 2 probe connectors 2. Weight 
7.1kg 3. Pulse Wave Doppler supported 4. Probe options: Linear, convex, 
micro-convex, endocavity 

5-2 Diagnostic Ultrasound System 
portable ultrasound: 12.1 inches LCD screen with 2 probe connectors 2. 
Weight 7.1kg 3. Probe options: Linear, convex, micro-convex, endocavity, 
phased-array 

5-3 Diagnostic Ultrasound System 
portable ultrasound: 15 inches tilt-and-swivel monitor with 1 probe connector 
2. Dual touch screen 3. 3D/4D support 4. Probe options: Linear, convex, 
micro-convex, endocavity, phased-array, 4D probe 



5 

5-4 Diagnostic Ultrasound System 
cart-based ultrasound: 21 inches tilt-and-swivel LCD screen with 4 probe 
connectors 2. 3D/4D support 3. Probe options: Linear, convex, micro-convex, 
endocavity, phased-array, 4D probe 

6. MANÔMETRO E FLUXÔMETRO DE OXIGÊNIO 

Nº Produto Foto Ilustrativo Especificações Técnicas REFERENCIAIS 

6-1 Manômetro de alto vácuo 

Nome: Manômetro de alto vácuo, com frasco de sucção com capacidade de 
2,5 litros, dois tubos de sucção (respectivamente 80cm e 2 metros) e um 
suporte para frasco de sucção. 

Modelo: 882VRM-760-CH-T 

Frasco de aspiração: SJ2500 Tubo de aspiração: ST8-100 

Modos de operação: 2 modos CONT e OFF ，
Escala completa negativa: 0 ~ 760 mmHg ， 
Faixa de exibição do relógio a vácuo: 0 ~ 760mmHg 
Precisão do relógio de vácuo: ± 4% ， 
Fluxo:> 70 l / min 
Peso: 0,5 Kg 
Dimensão: 6,3 ”H × 3,15” L × 3,94 ”D / 16 × 8 × 10 cm 

6-2 Frasco de coleta reutilizável 

Frasco de coleta reutilizável 
Modelo de 2,5 litros 
Frasco e tampa de policarbonato 
Suporte embutido para uso com corrediças de parede 
Frasco de policarbonato para durabilidade máxima 
O design do flutuador evita o transbordamento 
Os recipientes reutilizáveis da série SJ são fabricados para serem duráveis e 
autoclaváveis (até 121 ℃) 
CE listado 

6-3 Tubo de Sucção Tubo de Sucção 
1,5 / 16 "(8 mm), I.D. 

6-4 Deslizante 

Frasco de coleta reutilizável 
Modelo de 2,5 litros 
Frasco e tampa de policarbonato 
Suporte embutido para uso com corrediças de parede 
Frasco de policarbonato para durabilidade máxima 
O design do flutuador evita o transbordamento 
Os recipientes reutilizáveis da série SJ são fabricados para serem duráveis e 
autoclaváveis (até 121 ℃) 
CE listado 
Equipado com mangueira transparente de 1,5 / 16 "(8 mm) 
Conetado com a deslizante médico 



6 

6-5 Fluxômetro de oxigênio 

Fluxômetro de oxigênio 

Slim body flowmeter 
1. Available in anodized aluminum (FM197A) 
2. Polycarbonate tubes for  maximum durability 
3. Agion® Antimicrobial protection on the knob 
4. Back-pressure compensated 
5. Flow range: 0~15 LPM 
6. Calibrated at 50 psi * 
7. CE listed 

Humidifiers: 
1. Polycarbonate bottles are impact resistant for 

maximum durability and service life. 
2. Pressure relief valve on cover to vent excess 

pressure (only available in 7100R) 
3. DISS 1240 inlet connection 
Chemetron Adapter 

7. EQUIPAMENTOS DE ESTERILIZAÇÃO E CONTROLE DE INFECÇÃO 

Nº Produto Foto Ilustrativo Especificações Técnicas REFERENCIAIS 

3-1 ESTERILIZADOR A VAPOR / 
AUTOCLAVE 

Equipamento desenvolvido para esterilizar produtos e materiais que possam 
ser processados por calor úmido. Apresenta controle de pressão e 
temperatura de alta precisão e instrumentação e controle eletrônico de última 
geração. Tamanhos elegíveis de aproximadamente 100L / 210L / 300L / 500L 
etc. 

3-2 LAVADORA 
TERMODESINFECTORA 

Equipamento destinado a lavagem, enxague, desinfecção térmica e secagem 
automática de instrumentais, utensílios, vidrarias de laboratórios, tubos e 
acessórios para anestesia, tubos de sucção, embalagens, entre outros. 
Possui completa linha de acessórios para lavagem de inúmeros materiais e m 
ódulo de secagem com ar estéril. Seu sistema de controle automático de ú 
ltima geração permite múltiplas receitas de programação.  Apresenta 
tecnologia com controle de descontaminação com cálculo A0 e portas em 
vidro com iluminação interna. Atende aos requisitos de normas nacionais e 
internacionais. Tamanhos elegíveis de aproximadamente 287L / 400L etc. 

3-3 
LAVADORA E 

DESINFECTORA DE 
ENDOSCÓPIO 

A lavadora e desinfectora de endoscópio é destinada para limpeza e desinfecç 
ão automatica de endoscópios flexíveis e compreende as fases de limpeza  
final dos canais, desinfecção de alto nível e secagem dos canais dos endoscó 
pios, possui todas as características necessárias para fornecer proteção tripla 
- proteção aos pacientes, proteção de pessoal e proteção a todos os tipos de 
seus endoscópios flexíveis. É indicada para uso hospitalar, laboratorial ou clí 
nicas. Construída em aço SAE1020 (opcionalmente em AISI 304 ou 316). 
Possui controlador lógico programável de simples operação com display de 
cristal líquido com membrana (ou opcionalmente em tela Touch Screen 
colorida de 4” sensível a toque) é usada como interface para permitir ao 
operador monitorar e controlar as funções manuais e automáticas. Possui 
quatro (4) ciclos configuráveis pelo usuário. 

3-4 GABINETE DE SECAGEM 

Equipamento destinado para uso pós-lavagem de tubos, mangueiras, 
instrumentos metálicos, vidros, borrachas, entre outros. Capacidade para 
comportar até 48 traquéias.Câmara, porta e corpo em aço inoxidável AISI-304 
ou 316 (opcional) com acabamento escovado. Ciclo composto por 
aquecimento controlado, com tempo programável para até 95 minutos. 
Tamanho de aproximadamente 518L. 



7 

3-5 REPROCESSADOR 
ULTRASSÔNICO 

Indicado para a limpeza de instrumentais canulados ou não, utilizando a 
tecnologia de remoção por ultrassom. Totalmente em aço inoxidável. 
Comando Thouch Screen. Impressora, USB ou Ethernet. Remoção da 
sujidade em canulados por sistema de fluxo intermitente. Tamanhos elegíveis 
de aproximadamente 40L / 80L etc. 



1 

LISTA DE PRODUTOS REGISTRADOS NA ANVISA - PARTE II - CONSUMÍVEIS MÉDICOS 

Nº Produto Especificações Técnicas REFERENCIAIS Foto Ilustrativo 

1 Kit de Cateterização de Lúmen Triplo 
triplo lúmen 4Fr-8.5Fr x 4cm-35cm 

Conteúdo basico em cada kit: 
- 01 cateter triplo lúmen, 
- 01 fio guia com avançador, 
- 01 agulha introdutora de uso exclusivo para introdução do fio guia,
- 01 dilatador e tampa. 

2 Kit de Cateterização de Lúmen Duplo 
duplo lúmen 4Fr-8.5Fr x 5cm-45cm 

Conteúdo basico em cada kit: 
- 01 cateter duplo lúmen, 
- 01 fio guia com avançador, 
- 01 agulha introdutora de uso exclusivo para introdução do fio guia,
- 01 dilatador e tampa. 

3 Kit Cateter para Hemodiálise 

Conteúdo basico em cada kit: 
- 01 cateter para hemodiálise, 01 fio guia com avançador, 01 dilatador e 01 agulha introdutora, 
tampa, 01 seringa fenestrada de uso exclusivo para auxílio na inserção do fio guia e 02 conectores 
livres de agulha 

4 CONJUNTO CATETER DUPLO
duplo lúmen 4Fr-8.5Fr x 5cm-45cm 

Conteúdo basico em cada kit: 
- 01 cateter duplo lúmen, 
- 01 fio guia com avançador, 
- 01 agulha introdutora de uso exclusivo para introdução do fio guia, 
- 01 dilatador, 
- 01 seringa fenestrada de uso exclusivo para auxílio na inserção do fio guia,
- 02 conectores livres de agulha e tampa. 

6 Kit Cateter para Hemodiálise Triplo Lú 
men Curvo 12Fr x 13cm-20cm 

Conteúdo basico em cada kit: 
- 01 cateter para hemodiálise triplo lúmen curvo, 
- 01 fio guia com avançador, 
- 01 agulha introdutora exclusiva para introdução do fio guia,
- 01 dilatador e tampa. 



2 

Nº Produto Especificações Técnicas REFERENCIAIS Foto Ilustrativo 

7 Kit de Cateterização Mono Lúmen 
14Ga-22Ga x 5cm-45cm 

Conteúdo basico em cada kit: 
- 01 cateter mono lúmen, 
- 01 fio guia com avançador, 
- 01 agulha introdutora de uso exclusivo para introdução do fio guia,
- 01 dilatador e tampa. 

8 Kit Cateter para Hemodiálise Duplo L 
úmen Curvo 5Fr-14Fr x 8cm-30cm 

Conteúdo basico em cada kit: 
- 01 cateter para hemodiálise duplo lúmen curvo,
- 01 fio guia com avançador. 

9 Kit Cateter para Hemodiálise Triplo Lú 
men 12Fr x 13cm-20cm 

Conteúdo basico em cada kit: 
- 01 Cateter para hemodiálise triplo lúmen, 
- 01 fio guia com avançador, 
- 01 agulha introdutora exclusiva para introdução do fio guia, 
- 01 seringa fenestrada de uso exclusivo para auxílio na inserção do fio guia,
- 03 conectores livres de agulha 
- 01 dilatador e tampa. 

LISTA ESPECIAL - KITS TESTE PARA DETECÇÃO DE COVID-19 

Nº Produto Especificações Técnicas REFERENCIAIS Foto Ilustrativo 

1 SARS-CoV-2 Antibody Test 
(Lateral Flow Method) 

Sensitivity: 86.43% (95%CI: 82.51%~89.58%) 
Specificity: 99.57% (95%CI: 97.63%~99.92%)
Overall agreement: 91.61% (95%CI: 89.10%~93.58%) 

2 FinecareTM SARS-CoV-2 IgM/IgG 
Test 

For IgM test result: 
Sensitivity: 79.66% (95%CI: 76.51%~82.48%) 
Specificity: 99.12% (95%CI: 97.76%~99.66%) 
Total agreement: 87.34% (95%CI: 85.29%~89.13%) 

For IgG test results: 
Sensitivity: 87.39% (95%CI: 84.72%~89.65%) 
Specificity: 98.24% (95%CI: 96.57%~99.11%) 
Total agreement: 91.67% (95%CI: 89.94%~93.13%) 



1 

LISTA DE PRODUTOS REGISTRADOS NA ANVISA - PARTE III - PRODUTOS ORTOPÉDICOS E TRAUMATOLÓGICOS 

PRODUCTS IMAGE PART# 2019 SHORT CODE 2019 LONG CODE DESCRIPTION SPECIFICATIONS MATERIAL 

1- Plates for Clavicle 

1033703 100033703 08.311.01.100033703 Clavicle Locking Compression Plates-3 3 Holes/Left TAV 

1033704 100033704 08.311.01.100033704 Clavicle Locking Compression Plates-3 4 Holes/Left TAV 

1033705 100033705 08.311.01.100033705 Clavicle Locking Compression Plates-3 5 Holes/Left TAV 

1033706 100033706 08.311.01.100033706 Clavicle Locking Compression Plates-3 6 Holes/Left TAV 

1033707 100033707 08.311.01.100033707 Clavicle Locking Compression Plates-3 7 Holes/Left TAV 

1033708 100033708 08.311.01.100033708 Clavicle Locking Compression Plates-3 8 Holes/Left TAV 

1044703 100044703 08.311.01.100044703 Clavicle Locking Compression Plates-3 3 Holes/Right TAV 

1044704 100044704 08.311.01.100044704 Clavicle Locking Compression Plates-3 4 Holes/Right TAV 

1044705 100044705 08.311.01.100044705 Clavicle Locking Compression Plates-3 5 Holes/Right TAV 

1044706 100044706 08.311.01.100044706 Clavicle Locking Compression Plates-3 6 Holes/Right TAV 

1044707 100044707 08.311.01.100044707 Clavicle Locking Compression Plates-3 7 Holes/Right TAV 

1044708 100044708 08.311.01.100044708 Clavicle Locking Compression Plates-3 8 Holes/Right TAV 

100031707 08.311.01.100031707 Clavicle Locking Compression Plates 7 Holes/Left TAV 

100031708 08.311.01.100031708 Clavicle Locking Compression Plates 8 Holes/Left TAV 

100031709 08.311.01.100031709 Clavicle Locking Compression Plates 9 Holes/Left TAV 

100031710 08.311.01.100031710 Clavicle Locking Compression Plates 10 Holes/Left TAV 

100042707 08.311.01.100042707 Clavicle Locking Compression Plates 7 Holes/Right TAV 

100042708 08.311.01.100042708 Clavicle Locking Compression Plates 8 Holes/Right TAV 

100042709 08.311.01.100042709 Clavicle Locking Compression Plates 9 Holes/Right TAV 

100042710 08.311.01.100042710 Clavicle Locking Compression Plates 10 Holes/Right TAV 

2. Plates for Proximal Humerus 

1635702 100635702 08.311.01.100635702 Proximal Humerus Locking Compression Plates-2 2 Holes TAV 

1635703 100635703 08.311.01.100635703 Proximal Humerus Locking Compression Plates-2 3 Holes TAV 

1635704 100635704 08.311.01.100635704 Proximal Humerus Locking Compression Plates-2 4 Holes TAV 

1635705 100635705 08.311.01.100635705 Proximal Humerus Locking Compression Plates-2 5 Holes TAV 

1635706 100635706 08.311.01.100635706 Proximal Humerus Locking Compression Plates-2 6 Holes TAV 

1635707 100635707 08.311.01.100635707 Proximal Humerus Locking Compression Plates-2 7 Holes TAV 

1635708 100635708 08.311.01.100635708 Proximal Humerus Locking Compression Plates-2 8 Holes TAV 

3. Plates for Humerus Shaft 

1060706 100060706 08.311.01.100060706 Metaphyseal Locking Compression Plates-1 6 Holes TAV 

1060707 100060707 08.311.01.100060707 Metaphyseal Locking Compression Plates-1 7 Holes TAV 

1060708 100060708 08.311.01.100060708 Metaphyseal Locking Compression Plates-1 8 Holes TAV 

1060709 100060709 08.311.01.100060709 Metaphyseal Locking Compression Plates-1 9 Holes TAV 

1060710 100060710 08.311.01.100060710 Metaphyseal Locking Compression Plates-1 10 Holes TAV 

1060711 100060711 08.311.01.100060711 Metaphyseal Locking Compression Plates-1 11 Holes TAV 

1060713 100060713 08.311.01.100060713 Metaphyseal Locking Compression Plates-1 13 Holes TAV 

1060715 100060715 08.311.01.100060715 Metaphyseal Locking Compression Plates-1 15 Holes TAV 

1939703 100939703 08.311.01.100939703 Distal Lateral Dorsal Humerus Locking Compression Plates-2 3Holes/Left TAV 

1939705 100939705 08.311.01.100939705 Distal Lateral Dorsal Humerus Locking Compression Plates-2 5Holes/Left TAV 

1939707 100939707 08.311.01.100939707 Distal Lateral Dorsal Humerus Locking Compression Plates-2 7Holes/Left TAV 

1939709 100939709 08.311.01.100939709 Distal Lateral Dorsal Humerus Locking Compression Plates-2 9Holes/Left TAV 

1939711 100939711 08.311.01.100939711 Distal Lateral Dorsal Humerus Locking Compression Plates-2 11Holes/Left TAV 

1939714 100939714 08.311.01.100939714 Distal Lateral Dorsal Humerus Locking Compression Plates-2 14Holes/Left TAV 

1938703 100938703 08.311.01.100938703 Distal Lateral Dorsal Humerus Locking Compression Plates-2 3Holes/Right TAV 

1938705 100938705 08.311.01.100938705 Distal Lateral Dorsal Humerus Locking Compression Plates-2 5Holes/Right TAV 

1938707 100938707 08.311.01.100938707 Distal Lateral Dorsal Humerus Locking Compression Plates-2 7Holes/Right TAV 

1938709 100938709 08.311.01.100938709 Distal Lateral Dorsal Humerus Locking Compression Plates-2 9Holes/Right TAV 

1938711 100938711 08.311.01.100938711 Distal Lateral Dorsal Humerus Locking Compression Plates-2 11Holes/Right TAV 

1938714 100938714 08.311.01.100938714 Distal Lateral Dorsal Humerus Locking Compression Plates-2 14Holes/Right TAV 

1929705 100929705 08.311.01.100929705 Distal Medial Humerus Locking Compression Plates-2 5Holes/Left TAV 

1929707 100929707 08.311.01.100929707 Distal Medial Humerus Locking Compression Plates-2 7Holes/Left TAV 

1929709 100929709 08.311.01.100929709 Distal Medial Humerus Locking Compression Plates-2 9Holes/Left TAV 

1929711 100929711 08.311.01.100929711 Distal Medial Humerus Locking Compression Plates-2 11Holes/Left TAV 

1929714 100929714 08.311.01.100929714 Distal Medial Humerus Locking Compression Plates-2 14Holes/Left TAV 

1928705 100928705 08.311.01.100928705 Distal Medial Humerus Locking Compression Plates-2 5Holes/Right TAV 

1928707 100928707 08.311.01.100928707 Distal Medial Humerus Locking Compression Plates-2 7Holes/Right TAV 

1928709 100928709 08.311.01.100928709 Distal Medial Humerus Locking Compression Plates-2 9Holes/Right TAV 

1928711 100928711 08.311.01.100928711 Distal Medial Humerus Locking Compression Plates-2 11Holes/Right TAV 

1928714 100928714 08.311.01.100928714 Distal Medial Humerus Locking Compression Plates-2 14Holes/Right TAV 

1931704 101550704 08.311.01.101550704 Distal abarticular Humerus Locking Compression plate 4Holes/Left TAV 

1931705 101550705 08.311.01.101550705 Distal abarticular Humerus Locking Compression plate 5Holes/Left TAV 

1931706 101550706 08.311.01.101550706 Distal abarticular Humerus Locking Compression plate 6Holes/Left TAV 

1931707 101550707 08.311.01.101550707 Distal abarticular Humerus Locking Compression plate 7Holes/Left TAV 

1931708 101550708 08.311.01.101550708 Distal abarticular Humerus Locking Compression plate 8Holes/Left TAV 

1931709 101550709 08.311.01.101550709 Distal abarticular Humerus Locking Compression plate 9Holes/Left TAV 

1931710 101550710 08.311.01.101550710 Distal abarticular Humerus Locking Compression plate 10Holes/Left TAV 

1931711 101550711 08.311.01.101550711 Distal abarticular Humerus Locking Compression plate 11Holes/Left TAV 

1931712 101550712 08.311.01.101550712 Distal abarticular Humerus Locking Compression plate 12Holes/Left TAV 

1931713 101550713 08.311.01.101550713 Distal abarticular Humerus Locking Compression plate 13Holes/Left TAV 

1931714 101550714 08.311.01.101550714 Distal abarticular Humerus Locking Compression plate 14Holes/Left TAV 

1932704 101551704 08.311.01.101551704 Distal abarticular Humerus Locking Compression plate 4Holes/Right TAV 

1932705 101551705 08.311.01.101551705 Distal abarticular Humerus Locking Compression plate 5Holes/Right TAV 

1932706 101551706 08.311.01.101551706 Distal abarticular Humerus Locking Compression plate 6Holes/Right TAV 

1932707 101551707 08.311.01.101551707 Distal abarticular Humerus Locking Compression plate 7Holes/Right TAV 

1932708 101551708 08.311.01.101551708 Distal abarticular Humerus Locking Compression plate 8Holes/Right TAV 

1932709 101551709 08.311.01.101551709 Distal abarticular Humerus Locking Compression plate 9Holes/Right TAV 

1932710 101551710 08.311.01.101551710 Distal abarticular Humerus Locking Compression plate 10Holes/Right TAV 

1932711 101551711 08.311.01.101551711 Distal abarticular Humerus Locking Compression plate 11Holes/Right TAV 

1932712 101551712 08.311.01.101551712 Distal abarticular Humerus Locking Compression plate 12Holes/Right TAV 

1932713 101551713 08.311.01.101551713 Distal abarticular Humerus Locking Compression plate 13Holes/Right TAV 

1932714 101551714 08.311.01.101551714 Distal abarticular Humerus Locking Compression plate 14Holes/Right TAV 

5. Plates for Proximal Ulna 

1651802 100651802 08.311.01.100651802 Proximal Dorsal Ulnar Locking Compression Plate (2.7mm holes on head) 2 Holes/Left Ti 

1651804 100651804 08.311.01.100651804 Proximal Dorsal Ulnar Locking Compression Plate (2.7mm holes on head) 4 Holes/Left Ti 

1651806 100651806 08.311.01.100651806 Proximal Dorsal Ulnar Locking Compression Plate (2.7mm holes on head) 6 Holes/Left Ti 

1651808 100651808 08.311.01.100651808 Proximal Dorsal Ulnar Locking Compression Plate (2.7mm holes on head) 8 Holes/Left Ti 

1662802 100662802 08.311.01.100662802 Proximal Dorsal Ulnar Locking Compression Plate (2.7mm holes on head) 2 Holes/Right Ti 

1662804 100662804 08.311.01.100662804 Proximal Dorsal Ulnar Locking Compression Plate (2.7mm holes on head) 4 Holes/Right Ti 

1662806 100662806 08.311.01.100662806 Proximal Dorsal Ulnar Locking Compression Plate (2.7mm holes on head) 6 Holes/Right Ti 

1662808 100662808 08.311.01.100662808 Proximal Dorsal Ulnar Locking Compression Plate (2.7mm holes on head) 8 Holes/Right Ti 



2 

PRODUCTS IMAGE PART# 2019 SHORT CODE 2019 LONG CODE DESCRIPTION SPECIFICATIONS MATERIAL 

6901803-SET 6901803-SET 08.301.02.6901803-SET Instrument Set for Locking Plates of Upper Limbs 

31102000-SET 31102000-SET 08.301.02.31102000-SET Instruments Set for Distal Radius Locking Plates(2.4) 

8. Plates for Pelvis 

1891812 100891812 08.311.11.100891812 Pelvic anterior wall Locking plate-1 12 Holes/Left Ti 

1891814 100891814 08.311.11.100891814 Pelvic anterior wall Locking plate-1 14 Holes/Left Ti 

1902812 100902812 08.311.11.100902812 Pelvic anterior wall Locking plate-1 12 Holes/Right Ti 

1902814 100902814 08.311.11.100902814 Pelvic anterior wall Locking plate-1 14 Holes/Right Ti 

1891808 100891808 08.311.11.100891808 Pelvic anterior wall Locking plate-2 10 Holes/Left Ti 

1891809 100891809 08.311.11.100891809 Pelvic anterior wall Locking plate-2 12 Holes/Left Ti 

1902808 100902808 08.311.11.100902808 Pelvic anterior wall Locking plate-2 10 Holes/Right Ti 

1902809 100902809 08.311.11.100902809 Pelvic anterior wall Locking plate-2 12 Holes/Right Ti 

1891802 100891802 08.311.11.100891802 Iliac plate-1 3 Holes/Left Ti 

1902802 100902802 08.311.11.100902802 Iliac plate-1 3 Holes/Right Ti 

1891803 100891803 08.311.11.100891803 Iliac plate-2 3 Holes/Left Ti 

1902803 100902803 08.311.11.100902803 Iliac plate-2 3 Holes/Right Ti 

100880804 08.311.01.100880804 Locking Reconstruction J-Plate 4 Holes Ti 

1880805 100880805 08.311.01.100880805 Locking Reconstruction J-Plate 5 Holes Ti 

1880806 100880806 08.311.01.100880806 Locking Reconstruction J-Plate 6 Holes Ti 

1880807 100880807 08.311.01.100880807 Locking Reconstruction J-Plate 7 Holes Ti 

1880808 100880808 08.311.01.100880808 Locking Reconstruction J-Plate 8 Holes Ti 

1880809 100880809 08.311.01.100880809 Locking Reconstruction J-Plate 9 Holes Ti 

1880810 100880810 08.311.01.100880810 Locking Reconstruction J-Plate 10 Holes Ti 

1880812 100880812 08.311.01.100880812 Locking Reconstruction J-Plate 12 Holes Ti 

1880814 100880814 08.311.01.100880814 Locking Reconstruction J-Plate 14 Holes Ti 

1880816 100880816 08.311.01.100880816 Locking Reconstruction J-Plate 16 Holes Ti 

1880818 100880818 08.311.01.100880818 Locking Reconstruction J-Plate 18 Holes Ti 

1880820 100880820 08.311.01.100880820 Locking Reconstruction J-Plate 20 Holes Ti 

1880822 100880822 08.311.01.100880822 Locking Reconstruction J-Plate 22 Holes Ti 

1891806 100891806 08.311.01.100891806 Locking Reconstruction J-Plates 6 Holes/Left Ti 

1891807 100891807 08.311.01.100891807 Locking Reconstruction J-Plates 7 Holes/Left Ti 

1891808 100891808 08.311.01.100891808 Locking Reconstruction J-Plates 8 Holes/Left Ti 

1891809 100891809 08.311.01.100891809 Locking Reconstruction J-Plates 9 Holes/Left Ti 

1891810 100891810 08.311.01.100891810 Locking Reconstruction J-Plates 10 Holes/Left Ti 

1891812 100891812 08.311.01.100891812 Locking Reconstruction J-Plates 12 Holes/Left Ti 

1891814 100891814 08.311.01.100891814 Locking Reconstruction J-Plates 14 Holes/Left Ti 

1891816 100891816 08.311.01.100891816 Locking Reconstruction J-Plates 16 Holes/Left Ti 

1902806 100902806 08.311.01.100902806 Locking Reconstruction J-Plates 6 Holes/Right Ti 

1902807 100902807 08.311.01.100902807 Locking Reconstruction J-Plates 7 Holes/Right Ti 

1902808 100902808 08.311.01.100902808 Locking Reconstruction J-Plates 8 Holes/Right Ti 

1902809 100902809 08.311.01.100902809 Locking Reconstruction J-Plates 9 Holes/Right Ti 

1902810 100902810 08.311.01.100902810 Locking Reconstruction J-Plates 10 Holes/Right Ti 

1902812 100902812 08.311.01.100902812 Locking Reconstruction J-Plates 12 Holes/Right Ti 

1902814 100902814 08.311.01.100902814 Locking Reconstruction J-Plates 14 Holes/Right Ti 

1902816 100902816 08.311.01.100902816 Locking Reconstruction J-Plates 16 Holes/Right Ti 

1880806 100880806 08.311.01.100880806 3.5mm Curved Reconstruction Locking Plate 6 Holes Ti 

1880807 100880807 08.311.01.100880807 3.5mm Curved Reconstruction Locking Plate 7 Holes Ti 

1880808 100880808 08.311.01.100880808 3.5mm Curved Reconstruction Locking Plate 8 Holes Ti 

1880809 100880809 08.311.01.100880809 3.5mm Curved Reconstruction Locking Plate 9 Holes Ti 

1880810 100880810 08.311.01.100880810 3.5mm Curved Reconstruction Locking Plate 10 Holes Ti 

1880812 100880812 08.311.01.100880812 3.5mm Curved Reconstruction Locking Plate 12 Holes Ti 

1880814 100880814 08.311.01.100880814 3.5mm Curved Reconstruction Locking Plate 14 Holes Ti 

1880816 100880816 08.311.01.100880816 3.5mm Curved Reconstruction Locking Plate 16 Holes Ti 

1880818 100880818 08.311.01.100880818 3.5mm Curved Reconstruction Locking Plate 18 Holes Ti 

1880820 100880820 08.311.01.100880820 3.5mm Curved Reconstruction Locking Plate 20 Holes Ti 

1880822 100880822 08.311.01.100880822 3.5mm Curved Reconstruction Locking Plate 22 Holes Ti 

1895804 100895804 08.311.01.100895804 Curved Reconstruction Locking Plate-1 4 Holes Ti 

1895806 100895806 08.311.01.100895806 Curved Reconstruction Locking Plate-1 6 Holes Ti 

31100003-SET 31100003-SET 08.301.02.31100003-SET Instrument Set for Pelvis 

9. Plates for Proximal Femur 

1139802 100139802 08.311.01.100139802 Proximal Lateral Femur Locking Compression Plates-3 2 Holes/Left Ti 

100139803 08.311.01.100139803 Proximal Lateral Femur Locking Compression Plates-3 3 Holes/Left Ti 

1139804 100139804 08.311.01.100139804 Proximal Lateral Femur Locking Compression Plates-3 4 Holes/Left Ti 

100139805 08.311.01.100139805 Proximal Lateral Femur Locking Compression Plates-3 5 Holes/Left Ti 

1139806 100139806 08.311.01.100139806 Proximal Lateral Femur Locking Compression Plates-3 6 Holes/Left Ti 

100139807 08.311.01.100139807 Proximal Lateral Femur Locking Compression Plates-3 7 Holes/Left Ti 

1139808 100139808 08.311.01.100139808 Proximal Lateral Femur Locking Compression Plates-3 8 Holes/Left Ti 

100139809 08.311.01.100139809 Proximal Lateral Femur Locking Compression Plates-3 9 Holes/Left Ti 

1139810 100139810 08.311.01.100139810 Proximal Lateral Femur Locking Compression Plates-3 10 Holes/Left Ti 

100139811 08.311.01.100139811 Proximal Lateral Femur Locking Compression Plates-3 11 Holes/Left Ti 

1139812 100139812 08.311.01.100139812 Proximal Lateral Femur Locking Compression Plates-3 12 Holes/Left Ti 

100139813 08.311.01.100139813 Proximal Lateral Femur Locking Compression Plates-3 13 Holes/Left Ti 

1139814 100139814 08.311.01.100139814 Proximal Lateral Femur Locking Compression Plates-3 14 Holes/Left Ti 

1138802 100138802 08.311.01.100138802 Proximal Lateral Femur Locking Compression Plates-3 2 Holes/Right Ti 

100138803 08.311.01.100138803 Proximal Lateral Femur Locking Compression Plates-3 3 Holes/Right Ti 

1138804 100138804 08.311.01.100138804 Proximal Lateral Femur Locking Compression Plates-3 4 Holes/Right Ti 

100138805 08.311.01.100138805 Proximal Lateral Femur Locking Compression Plates-3 5 Holes/Right Ti 

1138806 100138806 08.311.01.100138806 Proximal Lateral Femur Locking Compression Plates-3 6 Holes/Right Ti 

100138807 08.311.01.100138807 Proximal Lateral Femur Locking Compression Plates-3 7 Holes/Right Ti 

1138808 100138808 08.311.01.100138808 Proximal Lateral Femur Locking Compression Plates-3 8 Holes/Right Ti 

100138809 08.311.01.100138809 Proximal Lateral Femur Locking Compression Plates-3 9 Holes/Right Ti 

1138810 100138810 08.311.01.100138810 Proximal Lateral Femur Locking Compression Plates-3 10 Holes/Right Ti 

100138811 08.311.01.100138811 Proximal Lateral Femur Locking Compression Plates-3 11 Holes/Right Ti 

1138812 100138812 08.311.01.100138812 Proximal Lateral Femur Locking Compression Plates-3 12 Holes/Right Ti 

100138813 08.311.01.100138813 Proximal Lateral Femur Locking Compression Plates-3 13 Holes/Right Ti 

1138814 100138814 08.311.01.100138814 Proximal Lateral Femur Locking Compression Plates-3 14 Holes/Right Ti 

10. Plates for Distal Femur 



3 

` 

PRODUCTS IMAGE PART# 2019 SHORT CODE 2019 LONG CODE DESCRIPTION SPECIFICATIONS MATERIAL 

LISS PLATE 1441805 100441805 08.311.01.100441805 Distal Lateral Femur Locking Plates-1 5 Holes/Left Ti 

1441807 100441807 08.311.01.100441807 Distal Lateral Femur Locking Plates-1 7 Holes/Left Ti 

1441809 100441809 08.311.01.100441809 Distal Lateral Femur Locking Plates-1 9 Holes/Left Ti 

1441811 100441811 08.311.01.100441811 Distal Lateral Femur Locking Plates-1 11 Holes/Left Ti 

1441813 100441813 08.311.01.100441813 Distal Lateral Femur Locking Plates-1 13 Holes/Left Ti 

1452805 100452805 08.311.01.100452805 Distal Lateral Femur Locking Plates-1 5 Holes/Right Ti 

1452807 100452807 08.311.01.100452807 Distal Lateral Femur Locking Plates-1 7 Holes/Right Ti 

1452809 100452809 08.311.01.100452809 Distal Lateral Femur Locking Plates-1 9 Holes/Right Ti 

1452811 100452811 08.311.01.100452811 Distal Lateral Femur Locking Plates-1 11 Holes/Right Ti 

1452813 100452813 08.311.01.100452813 Distal Lateral Femur Locking Plates-1 13 Holes/Right Ti 

COMBINED HOLES PLATE 1141805 100141805 08.311.01.100141805 Distal Lateral Femur Locking Compression Plates-1 5 Holes/Left Ti 

1141807 100141807 08.311.01.100141807 Distal Lateral Femur Locking Compression Plates-1 7 Holes/Left Ti 

1141809 100141809 08.311.01.100141809 Distal Lateral Femur Locking Compression Plates-1 9 Holes/Left Ti 

1152805 100152805 08.311.01.100152805 Distal Lateral Femur Locking Compression Plates-1 5 Holes/Right Ti 

1152807 100152807 08.311.01.100152807 Distal Lateral Femur Locking Compression Plates-1 7 Holes/Right Ti 

1152809 100152809 08.311.01.100152809 Distal Lateral Femur Locking Compression Plates-1 9 Holes/Right Ti 

1152811 100152811 08.311.01.100152811 Distal Lateral Femur Locking Compression Plates-1 11 Holes/Right Ti 

1152813 100152813 08.311.01.100152813 Distal Lateral Femur Locking Compression Plates-1 13 Holes/Right Ti 

11. Plates for Proximal Tibia 

1292805 100292805 08.311.01.100292805 Proximal Lateral Tibia Locking Compression Plates 5 Holes/Right Ti 

101370803 08.311.01.101370803 Proximal Posterior Tibia Locking Plate-2 3 Holes/Left Ti 

101370805 08.311.01.101370805 Proximal Posterior Tibia Locking Plate-2 5 Holes/Left Ti 

101370807 08.311.01.101370807 Proximal Posterior Tibia Locking Plate-2 7 Holes/Left Ti 

101370809 08.311.01.101370809 Proximal Posterior Tibia Locking Plate-2 9 Holes/Left Ti 

101371803 08.311.01.101371803 Proximal Posterior Tibia Locking Plate-2 3 Holes/Right Ti 

101371805 08.311.01.101371805 Proximal Posterior Tibia Locking Plate-2 5 Holes/Right Ti 

101371807 08.311.01.101371807 Proximal Posterior Tibia Locking Plate-2 7 Holes/Right Ti 

101371809 08.311.01.101371809 Proximal Posterior Tibia Locking Plate-2 9 Holes/Right Ti 

LISS PLATE 1461803 100461803 08.311.01.100461803 Proximal Lateral Tibia Locking Plates 3 Holes/Left Ti 

1461805 100461805 08.311.01.100461805 Proximal Lateral Tibia Locking Plates 5 Holes/Left Ti 

1461807 100461807 08.311.01.100461807 Proximal Lateral Tibia Locking Plates 7 Holes/Left Ti 

1461809 100461809 08.311.01.100461809 Proximal Lateral Tibia Locking Plates 9 Holes/Left Ti 

1461811 100461811 08.311.01.100461811 Proximal Lateral Tibia Locking Plates 11 Holes/Left Ti 

1461813 100461813 08.311.01.100461813 Proximal Lateral Tibia Locking Plates 13 Holes/Left Ti 

1472803 100472803 08.311.01.100472803 Proximal Lateral Tibia Locking Plates 3 Holes/Right Ti 

1472805 100472805 08.311.01.100472805 Proximal Lateral Tibia Locking Plates 5 Holes/Right Ti 

1472807 100472807 08.311.01.100472807 Proximal Lateral Tibia Locking Plates 7 Holes/Right Ti 

1472809 100472809 08.311.01.100472809 Proximal Lateral Tibia Locking Plates 9 Holes/Right Ti 

1472811 100472811 08.311.01.100472811 Proximal Lateral Tibia Locking Plates 11 Holes/Right Ti 

1472813 100472813 08.311.01.100472813 Proximal Lateral Tibia Locking Plates 13 Holes/Right Ti 

1301804 100301804 08.311.01.100301804 Proximal Tibia Locking Compression Plates-1 4 Holes/Left Ti 

1301806 100301806 08.311.01.100301806 Proximal Tibia Locking Compression Plates-1 6 Holes/Left Ti 

1301808 100301808 08.311.01.100301808 Proximal Tibia Locking Compression Plates-1 8 Holes/Left Ti 

1301810 100301810 08.311.01.100301810 Proximal Tibia Locking Compression Plates-1 10 Holes/Left Ti 

1301812 100301812 08.311.01.100301812 Proximal Tibia Locking Compression Plates-1 12 Holes/Left Ti 

1301814 100301814 08.311.01.100301814 Proximal Tibia Locking Compression Plates-1 14 Holes/Left Ti 

1301816 100301816 08.311.01.100301816 Proximal Tibia Locking Compression Plates-1 16 Holes/Left Ti 

1312804 100312804 08.311.01.100312804 Proximal Tibia Locking Compression Plates-1 4 Holes/Right Ti 

1312806 100312806 08.311.01.100312806 Proximal Tibia Locking Compression Plates-1 6 Holes/Right Ti 

1312808 100312808 08.311.01.100312808 Proximal Tibia Locking Compression Plates-1 8 Holes/Right Ti 

1312810 100312810 08.311.01.100312810 Proximal Tibia Locking Compression Plates-1 10 Holes/Right Ti 

1312812 100312812 08.311.01.100312812 Proximal Tibia Locking Compression Plates-1 12 Holes/Right Ti 

1312814 100312814 08.311.01.100312814 Proximal Tibia Locking Compression Plates-1 14 Holes/Right Ti 

1312816 100312816 08.311.01.100312816 Proximal Tibia Locking Compression Plates-1 16 Holes/Right Ti 

12. Plates for Tibia Shaft 

100850803 08.311.01.100850803 Metaphyseal Locking Compression Plate-2( Lower Limb) 3 Holes Ti 

100850804 08.311.01.100850804 Metaphyseal Locking Compression Plate-2( Lower Limb) 4 Holes Ti 

100850805 08.311.01.100850805 Metaphyseal Locking Compression Plate-2( Lower Limb) 5 Holes Ti 

100850806 08.311.01.100850806 Metaphyseal Locking Compression Plate-2( Lower Limb) 6 Holes Ti 

100850807 08.311.01.100850807 Metaphyseal Locking Compression Plate-2( Lower Limb) 7 Holes Ti 

100850808 08.311.01.100850808 Metaphyseal Locking Compression Plate-2( Lower Limb) 8 Holes Ti 

100850809 08.311.01.100850809 Metaphyseal Locking Compression Plate-2( Lower Limb) 9 Holes Ti 

100850811 08.311.01.100850811 Metaphyseal Locking Compression Plate-2( Lower Limb) 11 Holes Ti 

100850813 08.311.01.100850813 Metaphyseal Locking Compression Plate-2( Lower Limb) 13 Holes Ti 

100850815 08.311.01.100850815 Metaphyseal Locking Compression Plate-2( Lower Limb) 15 Holes Ti 

13. Plates for Distal Tibia 

1381803 100381803 08.311.01.100381803 Distal Medial Tibia Locking Compression Plates-1 3 Holes/Left Ti 

1381805 100381805 08.311.01.100381805 Distal Medial Tibia Locking Compression Plates-1 5 Holes/Left Ti 

1381807 100381807 08.311.01.100381807 Distal Medial Tibia Locking Compression Plates-1 7 Holes/Left Ti 

1381809 100381809 08.311.01.100381809 Distal Medial Tibia Locking Compression Plates-1 9Holes/Left Ti 

1381811 100381811 08.311.01.100381811 Distal Medial Tibia Locking Compression Plates-1 11 Holes/Left Ti 

1381813 100381813 08.311.01.100381813 Distal Medial Tibia Locking Compression Plates-1 13Holes/Left Ti 

1381815 100381815 08.311.01.100381815 Distal Medial Tibia Locking Compression Plates-1 15 Holes/Left Ti 

1392803 100392803 08.311.01.100392803 Distal Medial Tibia Locking Compression Plates-1 3 Holes/Right Ti 

1392805 100392805 08.311.01.100392805 Distal Medial Tibia Locking Compression Plates-1 5Holes/Right Ti 

1392807 100392807 08.311.01.100392807 Distal Medial Tibia Locking Compression Plates-1 7 Holes/Right Ti 

1392809 100392809 08.311.01.100392809 Distal Medial Tibia Locking Compression Plates-1 9 Holes/Right Ti 

1392811 100392811 08.311.01.100392811 Distal Medial Tibia Locking Compression Plates-1 11Holes/Right Ti 

1392813 100392813 08.311.01.100392813 Distal Medial Tibia Locking Compression Plates-1 13 Holes/Right Ti 

1392815 08.311.01.100392815 Distal Medial Tibia Locking Compression Plates-1 15 Holes/Right Ti 

1361805 100361805 08.311.01.100361805 Distal Anterolateral Tibia Locking Compression Plates 5 Holes/Left Ti 

1361807 100361807 08.311.01.100361807 Distal Anterolateral Tibia Locking Compression Plates 7 Holes/Left Ti 

1361809 100361809 08.311.01.100361809 Distal Anterolateral Tibia Locking Compression Plates 9 Holes/Left Ti 

1361811 100361811 08.311.01.100361811 Distal Anterolateral Tibia Locking Compression Plates 11 Holes/Left Ti 

1361813 100361813 08.311.01.100361813 Distal Anterolateral Tibia Locking Compression Plates 13 Holes/Left Ti 

1361815 100361815 08.311.01.100361815 Distal Anterolateral Tibia Locking Compression Plates 15 Holes/Left Ti 

1361817 100361817 08.311.01.100361817 Distal Anterolateral Tibia Locking Compression Plates 17 Holes/Left Ti 

1361819 100361819 08.311.01.100361819 Distal Anterolateral Tibia Locking Compression Plates 19 Holes/Left Ti 

1372805 100372805 08.311.01.100372805 Distal Anterolateral Tibia Locking Compression Plates 5 Holes/Right Ti 



4 

PRODUCTS IMAGE PART# 2019 SHORT CODE 2019 LONG CODE DESCRIPTION SPECIFICATIONS MATERIAL 

1372807 100372807 08.311.01.100372807 Distal Anterolateral Tibia Locking Compression Plates 7 Holes/Right Ti 

1372809 100372809 08.311.01.100372809 Distal Anterolateral Tibia Locking Compression Plates 9 Holes/Right Ti 

1372811 100372811 08.311.01.100372811 Distal Anterolateral Tibia Locking Compression Plates 11 Holes/Right Ti 

1372813 100372813 08.311.01.100372813 Distal Anterolateral Tibia Locking Compression Plates 13 Holes/Right Ti 

1372815 100372815 08.311.01.100372815 Distal Anterolateral Tibia Locking Compression Plates 15 Holes/Right Ti 

1372817 100372817 08.311.01.100372817 Distal Anterolateral Tibia Locking Compression Plates 17 Holes/Right Ti 

1372819 100372819 08.311.01.100372819 Distal Anterolateral Tibia Locking Compression Plates 19 Holes/Right Ti 

14. Plates for Distal Fibula 

1619803 100619803 08.311.01.100619803 Distal Lateral Fibula Locking Compression Plate-3(2.7 locking screw on head) 3 Holes/Left Ti 

1619804 100619804 08.311.01.100619804 Distal Lateral Fibula Locking Compression Plate-3(2.7 locking screw on head) 4 Holes/Left Ti 

1619805 100619805 08.311.01.100619805 Distal Lateral Fibula Locking Compression Plate-3(2.7 locking screw on head) 5 Holes/Left Ti 

1619806 100619806 08.311.01.100619806 Distal Lateral Fibula Locking Compression Plate-3(2.7 locking screw on head) 6 Holes/Left Ti 

1619807 100619807 08.311.01.100619807 Distal Lateral Fibula Locking Compression Plate-3(2.7 locking screw on head) 7 Holes/Left Ti 

1618803 100618803 08.311.01.100618803 Distal Lateral Fibula Locking Compression Plate-3(2.7 locking screw on head) 3 Holes/Right Ti 

1618804 100618804 08.311.01.100618804 Distal Lateral Fibula Locking Compression Plate-3(2.7 locking screw on head) 4 Holes/Right Ti 

1618805 100618805 08.311.01.100618805 Distal Lateral Fibula Locking Compression Plate-3(2.7 locking screw on head) 5 Holes/Right Ti 

1618806 100618806 08.311.01.100618806 Distal Lateral Fibula Locking Compression Plate-3(2.7 locking screw on head) 6 Holes/Right Ti 

1618807 100618807 08.311.01.100618807 Distal Lateral Fibula Locking Compression Plate-3(2.7 locking screw on head) 7 Holes/Right Ti 

15. Plates for Calcaneus 

30900000-SET 30900000-SET 08.301.02.30900000-SET Instrument Set for Mini Plates (1.5/2.0/2.4mm) 

17. Plates for Hands-1.5/2.0 mm Locking Plates 

2010804a 200010804a 08.311.01.200010804a 1.5 mm Locking Compression Plates-1 4 Holes Ti 

2010806a 200010806a 08.311.01.200010806a 1.5 mm Locking Compression Plates-1 6 Holes Ti 

2015802a 200015802a 08.311.01.200015802a 1.5 mm Locking Compression Plates-2 2 Holes Ti 

2015803a 200015803a 08.311.01.200015803a 1.5 mm Locking Compression Plates-2 3 Holes Ti 

2015804a 200015804a 08.311.01.200015804a 1.5 mm Locking Compression Plates-2 4 Holes Ti 

2015805a 200015805a 08.311.01.200015805a 1.5 mm Locking Compression Plates-2 5 Holes Ti 

2015806a 200015806a 08.311.01.200015806a 1.5 mm Locking Compression Plates-2 6 Holes Ti 

2015807a 200015807a 08.311.01.200015807a 1.5 mm Locking Compression Plates-2 7 Holes Ti 

2015808a 200015808a 08.311.01.200015808a 1.5 mm Locking Compression Plates-2 8 Holes Ti 

2015809a 200015809a 08.311.01.200015809a 1.5 mm Locking Compression Plates-2 9 Holes Ti 

2015810a 200015810a 08.311.01.200015810a 1.5 mm Locking Compression Plates-2 10 Holes Ti 

2015811a 200015811a 08.311.01.200015811a 1.5 mm Locking Compression Plates-2 11 Holes Ti 

2015812a 200015812a 08.311.01.200015812a 1.5 mm Locking Compression Plates-2 12 Holes Ti 

1970802b 100970802b 08.311.01.100970802b 1.5 mm Locking Condylar Plates 2 Holes Ti 

1970803b 100970803b 08.311.01.100970803b 1.5 mm Locking Condylar Plates 3 Holes Ti 

1970804b 100970804b 08.311.01.100970804b 1.5 mm Locking Condylar Plates 4 Holes Ti 

1970805b 100970805b 08.311.01.100970805b 1.5 mm Locking Condylar Plates 5 Holes Ti 

1970806b 100970806b 08.311.01.100970806b 1.5 mm Locking Condylar Plates 6 Holes Ti 

1970807b 100970807b 08.311.01.100970807b 1.5 mm Locking Condylar Plates 7 Holes Ti 

1970804e 100970804e 08.311.01.100970804e Locking Compression Condylar Plates(4 holes) 4 Holes Ti 

1970805e 100970805e 08.311.01.100970805e Locking Compression Condylar Plates(5 holes) 5 Holes Ti 

2025802a 20025802a 08.311.01.20025802a 1.5 mm Reconstruction Locking Compression Y-Plates 2 Holes Ti 

2025803a 20025803a 08.311.01.20025803a 1.5 mm Reconstruction Locking Compression Y-Plates 3 Holes Ti 

2025804a 20025804a 08.311.01.20025804a 1.5 mm Reconstruction Locking Compression Y-Plates 4 Holes Ti 

2025805a 20025805a 08.311.01.20025805a 1.5 mm Reconstruction Locking Compression Y-Plates 5 Holes Ti 

2025806a 20025806a 08.311.01.20025806a 1.5 mm Reconstruction Locking Compression Y-Plates 6 Holes Ti 

2025807a 20025807a 08.311.01.20025807a 1.5 mm Reconstruction Locking Compression Y-Plates 7 Holes Ti 

2025808a 20025808a 08.311.01.20025808a 1.5 mm Reconstruction Locking Compression Y-Plates 8 Holes Ti 

2035802a 20035802a 08.311.01.20035802a 1.5 mm Reconstruction Locking Compression T-Plates-1 2 Holes Ti 

2035803a 20035803a 08.311.01.20035803a 1.5 mm Reconstruction Locking Compression T-Plates-1 3 Holes Ti 

2035804a 20035804a 08.311.01.20035804a 1.5 mm Reconstruction Locking Compression T-Plates-1 4 Holes Ti 

2035805a 20035805a 08.311.01.20035805a 1.5 mm Reconstruction Locking Compression T-Plates-1 5 Holes Ti 

2035806a 20035806a 08.311.01.20035806a 1.5 mm Reconstruction Locking Compression T-Plates-1 6 Holes Ti 

2035807a 20035807a 08.311.01.20035807a 1.5 mm Reconstruction Locking Compression T-Plates-1 7 Holes Ti 

1970804a 100970804a 08.311.01.100970804a Mini Locking Compression Condylar Plates-2( 4 holes) 4 Holes Ti 

1970805a 100970805a 08.311.01.100970805a Mini Locking Compression Condylar Plates-2( 5 holes) 5 Holes Ti 

1970802C 100970802c 08.311.01.100970802c 2.0 mm Locking Condylar Plates 2 Holes Ti 

1970803C 100970803c 08.311.01.100970803c 2.0 mm Locking Condylar Plates 3 Holes Ti 

1970804C 100970804c 08.311.01.100970804c 2.0 mm Locking Condylar Plates 4 Holes Ti 

1970805C 100970805c 08.311.01.100970805c 2.0 mm Locking Condylar Plates 5 Holes Ti 

1970806C 100970806c 08.311.01.100970806c 2.0 mm Locking Condylar Plates 6 Holes Ti 

1080804a 100080804a 08.311.01.100080804a 2.0 mm Locking Compression Plates-1 4 Holes Ti 

1080805a 100080805a 08.311.01.100080805a 2.0 mm Locking Compression Plates-1 5 Holes Ti 

1080806a 100080806a 08.311.01.100080806a 2.0 mm Locking Compression Plates-1 6 Holes Ti 

1080807a 100080807a 08.311.01.100080807a 2.0 mm Locking Compression Plates-1 7 Holes Ti 

1080808a 100080808a 08.311.01.100080808a 2.0 mm Locking Compression Plates-1 8 Holes Ti 

2045802 200045802 08.311.01.200045802 2.0 mm Locking Reconstruction Compression T-Plates-2 2 Holes Ti 

2045803 200045803 08.311.01.200045803 2.0 mm Locking Reconstruction Compression T-Plates-2 3 Holes Ti 

2045804 200045804 08.311.01.200045804 2.0 mm Locking Reconstruction Compression T-Plates-2 4 Holes Ti 

2045805 200045805 08.311.01.200045805 2.0 mm Locking Reconstruction Compression T-Plates-2 5 Holes Ti 

2045806 200045806 08.311.01.200045806 2.0 mm Locking Reconstruction Compression T-Plates-2 6 Holes Ti 

2045807 200045807 08.311.01.200045807 2.0 mm Locking Reconstruction Compression T-Plates-2 7 Holes Ti 

2035802 200035802 08.311.01.200035802 2.0 mm Locking Reconstruction Compression T-Plates-1 2 Holes Ti 

2035803 200035803 08.311.01.200035803 2.0 mm Locking Reconstruction Compression T-Plates-1 3 Holes Ti 

2035804 200035804 08.311.01.200035804 2.0 mm Locking Reconstruction Compression T-Plates-1 4 Holes Ti 

2035805 200035805 08.311.01.200035805 2.0 mm Locking Reconstruction Compression T-Plates-1 5 Holes Ti 

2035806 200035806 08.311.01.200035806 2.0 mm Locking Reconstruction Compression T-Plates-1 6 Holes Ti 

2035807 200035807 08.311.01.200035807 2.0 mm Locking Reconstruction Compression T-Plates-1 7 Holes Ti 

2025802 200025802 08.311.01.200025802 2.0 mm Locking Reconstruction Compression Y-Plates 2 Holes Ti 

2025803 200025803 08.311.01.200025803 2.0 mm Locking Reconstruction Compression Y-Plates 3 Holes Ti 

2025804 200025804 08.311.01.200025804 2.0 mm Locking Reconstruction Compression Y-Plates 4 Holes Ti 

2025805 200025805 08.311.01.200025805 2.0 mm Locking Reconstruction Compression Y-Plates 5 Holes Ti 

2025806 200025806 08.311.01.200025806 2.0 mm Locking Reconstruction Compression Y-Plates 6 Holes Ti 

2025807 200025807 08.311.01.200025807 2.0 mm Locking Reconstruction Compression Y-Plates 7 Holes Ti 

2015802 200015802 08.311.01.200015802 2.0 mm Locking Compression plate -2 2 Holes Ti 

2015803 200015803 08.311.01.200015803 2.0 mm Locking Compression plate -2 3 Holes Ti 



5 

PRODUCTS IMAGE PART# 2019 SHORT CODE 2019 LONG CODE DESCRIPTION SPECIFICATIONS MATERIAL 

2015804 200015804 08.311.01.200015804 2.0 mm Locking Compression plate -2 4 Holes Ti 

2015805 200015805 08.311.01.200015805 2.0 mm Locking Compression plate -2 5 Holes Ti 

2015806 200015806 08.311.01.200015806 2.0 mm Locking Compression plate -2 6 Holes Ti 

2015807 200015807 08.311.01.200015807 2.0 mm Locking Compression plate -2 7 Holes Ti 

2015808 200015808 08.311.01.200015808 2.0 mm Locking Compression plate -2 8 Holes Ti 

2015809 200015809 08.311.01.200015809 2.0 mm Locking Compression plate -2 9 Holes Ti 

2015810 200015810 08.311.01.200015810 2.0 mm Locking Compression plate -2 10 Holes Ti 

2015811 200015811 08.311.01.200015811 2.0 mm Locking Compression plate -2 11 Holes Ti 

2015812 200015812 08.311.01.200015812 2.0 mm Locking Compression plate -2 12 Holes Ti 

30900005-SET 30900005-SET 08.301.02.30900005-SET Universal Instrument Set for Mini Locking Plates(1.5/2.0 mm) 

18. Plates for Foot 2.4/2.7 mm 

2040802 200040802 08.311.01.200040802 2.4mm Locking Reconstruction Compression T-Plates-2 2 Holes Ti 

2040803 200040803 08.311.01.200040803 2.4mm Locking Reconstruction Compression T-Plates-2 3 Holes Ti 

2040804 200040804 08.311.01.200040804 2.4mm Locking Reconstruction Compression T-Plates-2 4 Holes Ti 

2040805 200040805 08.311.01.200040805 2.4mm Locking Reconstruction Compression T-Plates-2 5 Holes Ti 

2040806 200040806 08.311.01.200040806 2.4mm Locking Reconstruction Compression T-Plates-2 6 Holes Ti 

2040807 200040807 08.311.01.200040807 2.4mm Locking Reconstruction Compression T-Plates-2 7 Holes Ti 

2030802 200030802 08.311.01.200030802 2.4mm Locking Reconstruction Compression T-Plates-1 2 Holes Ti 

2030803 200030803 08.311.01.200030803 2.4mm Locking Reconstruction Compression T-Plates-1 3 Holes Ti 

2030804 200030804 08.311.01.200030804 2.4mm Locking Reconstruction Compression T-Plates-1 4 Holes Ti 

2030805 200030805 08.311.01.200030805 2.4mm Locking Reconstruction Compression T-Plates-1 5 Holes Ti 

2030806 200030806 08.311.01.200030806 2.4mm Locking Reconstruction Compression T-Plates-1 6 Holes Ti 

2030807 200030807 08.311.01.200030807 2.4mm Locking Reconstruction Compression T-Plates-1 7 Holes Ti 

2020802 200020802 08.311.01.200020802 2.4 mm Locking Reconstruction Compression Y-Plates 2 Holes Ti 

2020803 200020803 08.311.01.200020803 2.4 mm Locking Reconstruction Compression Y-Plates 3 Holes Ti 

2020804 200020804 08.311.01.200020804 2.4 mm Locking Reconstruction Compression Y-Plates 4 Holes Ti 

2020805 200020805 08.311.01.200020805 2.4 mm Locking Reconstruction Compression Y-Plates 5 Holes Ti 

2020806 200020806 08.311.01.200020806 2.4 mm Locking Reconstruction Compression Y-Plates 6 Holes Ti 

2020807 200020807 08.311.01.200020807 2.4 mm Locking Reconstruction Compression Y-Plates 7 Holes Ti 

1975802 100975802 08.311.01.100975802 2.4mm Condylar Locking Compression Plates 2 Holes Ti 

1975803 100975803 08.311.01.100975803 2.4mm Condylar Locking Compression Plates 3 Holes Ti 

1975804 100975804 08.311.01.100975804 2.4mm Condylar Locking Compression Plates 4 Holes Ti 

1975805 100975805 08.311.01.100975805 2.4mm Condylar Locking Compression Plates 5 Holes Ti 

1975806 100975806 08.311.01.100975806 2.4mm Condylar Locking Compression Plates 6 Holes Ti 

1975807 100975807 08.311.01.100975807 2.4mm Condylar Locking Compression Plates 7 Holes Ti 

2010804 200010804 08.311.01.200010804 2.4 mm Locking Compression Plates-1 4 Holes Ti 

2010805 200010805 08.311.01.200010805 2.4 mm Locking Compression Plates-1 5 Holes Ti 

2010806 200010806 08.311.01.200010806 2.4 mm Locking Compression Plates-1 6 Holes Ti 

2010807 200010807 08.311.01.200010807 2.4 mm Locking Compression Plates-1 7 Holes Ti 

2010808 200010808 08.311.01.200010808 2.4 mm Locking Compression Plates-1 8 Holes Ti 

2015802b 200015802b 08.311.01.200015802b 2.4 mm Locking Compression Plates-2 2 Holes Ti 

2015803b 200015803b 08.311.01.200015803b 2.4 mm Locking Compression Plates-2 3 Holes Ti 

2015804b 200015804b 08.311.01.200015804b 2.4 mm Locking Compression Plates-2 4 Holes Ti 

2015805b 200015805b 08.311.01.200015805b 2.4 mm Locking Compression Plates-2 5 Holes Ti 

2015806b 200015806b 08.311.01.200015806b 2.4 mm Locking Compression Plates-2 6 Holes Ti 

2015807b 200015807b 08.311.01.200015807b 2.4 mm Locking Compression Plates-2 7 Holes Ti 

2015808b 200015808b 08.311.01.200015808b 2.4 mm Locking Compression Plates-2 8 Holes Ti 

2015809b 200015809b 08.311.01.200015809b 2.4 mm Locking Compression Plates-2 9 Holes Ti 

2015810b 200015810b 08.311.01.200015810b 2.4 mm Locking Compression Plates-2 10 Holes Ti 

2015811b 200015811b 08.311.01.200015811b 2.4 mm Locking Compression Plates-2 11 Holes Ti 

2015812b 200015812b 08.311.01.200015812b 2.4 mm Locking Compression Plates-2 12 Holes Ti 

1940802 100940802 08.311.01.100940802 2.7 mm Condylar Locking Compression Plates 2 Holes Ti 

1940803 100940803 08.311.01.100940803 2.7 mm Condylar Locking Compression Plates 3 Holes Ti 

1940804 100940804 08.311.01.100940804 2.7 mm Condylar Locking Compression Plates 4 Holes Ti 

1940805 100940805 08.311.01.100940805 2.7 mm Condylar Locking Compression Plates 5 Holes Ti 

1940806 100940806 08.311.01.100940806 2.7 mm Condylar Locking Compression Plates 6 Holes Ti 

1940807 100940807 08.311.01.100940807 2.7 mm Condylar Locking Compression Plates 7 Holes Ti 

1965803 100965803 08.311.01.100965803 2.7 mm Locking Compression T-Plates 3 Holes Ti 

1965804 100965804 08.311.01.100965804 2.7 mm Locking Compression T-Plates 4 Holes Ti 

1961803 100961803 08.311.01.100961803 2.7 mm Locking Compression L-Plates 3 Holes/Left Ti 

1962803 100962803 08.311.01.100962803 2.7 mm Locking Compression L-Plates 3 Holes/Right Ti 

1961804 100961804 08.311.01.100961804 2.7 mm Locking Compression L-Plates 4 Holes/Left Ti 

1962804 100962804 08.311.01.100962804 2.7 mm Locking Compression L-Plates 4 Holes/Right Ti 

1969803 100969803 08.311.01.100969803 2.7 mm Locking Compression L-Plates, oblique 3 Holes/Left Ti 

1968803 100968803 08.311.01.100968803 2.7 mm Locking Compression L-Plates, oblique 3 Holes/Right Ti 

1969804 100969804 08.311.01.100969804 2.7 mm Locking Compression L-Plates, oblique 4 Holes/Left Ti 

1968804 100968804 08.311.01.100968804 2.7 mm Locking Compression L-Plates, oblique 4 Holes/Right Ti 

1080804 100080804 08.311.01.100080804 2.7 mm Locking Compression Plates-1 4 Holes Ti 

1080805 100080805 08.311.01.100080805 2.7 mm Locking Compression Plates-1 5 Holes Ti 

1080806 100080806 08.311.01.100080806 2.7 mm Locking Compression Plates-1 6 Holes Ti 

1080807 100080807 08.311.01.100080807 2.7 mm Locking Compression Plates-1 7 Holes Ti 

100080808 08.311.01.100080808 2.7 mm Locking Compression Plates-1 8 Holes Ti 

100080810 08.311.01.100080810 2.7 mm Locking Compression Plates-1 10Holes Ti 

30900006-SET 30900006-SET 08.301.02.30900006-SET Instrument Set for Foot Locking Plates (2.0/2.4/2.7mm) 

19. Plates for Forefoot/Midfoot 2.7 mm 

201900704 08.311.01.201900704 Locking Plate-2 (H shape) 4 Holes（18） TAV 

201901704 08.311.01.201901704 Locking Plate-2 (H shape) 4 Holes（20） TAV 

201902704 08.311.01.201902704 Locking Plate-2 (H shape) 4 Holes（22） TAV 

201903704 08.311.01.201903704 Locking Plate-2 (H shape) 4 Holes（24） TAV 

201910704 08.311.01.201910704 Locking Plate-3 (H shape) 4 Holes（12） TAV 

201911704 08.311.01.201911704 Locking Plate-3 (H shape) 4 Holes（16） TAV 

201912704 08.311.01.201912704 Locking Plate-3 (H shape) 4 Holes（20） TAV 

201913704 08.311.01.201913704 Locking Plate-3 (H shape) 4 Holes（24） TAV 

201914704 08.311.01.201914704 Locking Plate-3 (H shape) 4 Holes（28） TAV 

201920704 08.311.01.201920704 Locking Plate-4 (H shape) 4 Holes（22） TAV 

201921704 08.311.01.201921704 Locking Plate-4 (H shape) 4 Holes（24） TAV 

201922704 08.311.01.201922704 Locking Plate-4 (H shape) 4 Holes（26） TAV 

201923704 08.311.01.201923704 Locking Plate-4 (H shape) 4 Holes（28） TAV 



6 

PRODUCTS IMAGE PART# 2019 SHORT CODE 2019 LONG CODE DESCRIPTION SPECIFICATIONS MATERIAL 

1940704 201820702 08.311.01.201820702 2.7mm Straight MP Joint Fusion Locking Plates 4 Holes（19.8） TAV 

1940706 201820703 08.311.01.201820703 2.7mm Straight MP Joint Fusion Locking Plates 4 Holes（26） TAV 

1940708 201820704 08.311.01.201820704 2.7mm Straight MP Joint Fusion Locking Plates 4 Holes（33.4） TAV 

201940704 08.311.01.201940704 Correction Locking Plate (Wedge shape) 4 Holes（3mm） TAV 

201941704 08.311.01.201941704 Correction Locking Plate (Wedge shape) 4 Holes（4mm） TAV 

201942704 08.311.01.201942704 Correction Locking Plate (Wedge shape) 4 Holes（5mm） TAV 

201943704 08.311.01.201943704 Correction Locking Plate (Wedge shape) 4 Holes（6mm） TAV 

201944704 08.311.01.201944704 Correction Locking Plate (Wedge shape) 4 Holes（7mm） TAV 

201950704 08.311.01.201950704 Locking Plate-2 (Wedge shape) 4 Holes（1mm） TAV 

201951704 08.311.01.201951704 Locking Plate-2 (Wedge shape) 4 Holes（2mm） TAV 

201952704 08.311.01.201952704 Locking Plate-2 (Wedge shape) 4 Holes（3mm） TAV 

201953704 08.311.01.201953704 Locking Plate-2 (Wedge shape) 4 Holes（4mm） TAV 

201954704 08.311.01.201954704 Locking Plate-2 (Wedge shape) 4 Holes（5mm） TAV 

201955704 08.311.01.201955704 Locking Plate-2 (Wedge shape) 4 Holes（6mm） TAV 

1550706 101780706 08.311.01.101780706 Calcaneus Locking Plate-10 6 Holes TAV 

1550708 101780708 08.311.01.101780708 Calcaneus Locking Plate-10 8 Holes TAV 

1550710 101780710 08.311.01.101780710 Calcaneus Locking Plate-10 10 Holes TAV 

201920706 08.311.01.201920706 Reconstruction Locking Plate-H shape TAV 

201920708 08.311.01.201920708 Reconstruction Locking Plate-H shape TAV 

201960902 08.311.01.201960902 Locking Plate-1(straight type) SS 

201961902 08.311.01.201961902 Locking Plate-1(straight type) SS 

201962902 08.311.01.201962902 Locking Plate-1(straight type) SS 

30900006-SET 30900006-SET 08.301.02.30900006-SET Instrument Set for Foot Locking Plates (2.0/2.4/2.7mm) 

30900007-SET 30900007-SET 08.301.02.30900007-SET Instrument Set for Foot Locking Plates 2.7 mm 

30900009-SET 30900009-SET 08.301.02.30900009-SET Instrument Set for Foot Locking Plates 3.5 mm 

20. Cortex Screws 1.5/2.0/2.4/2.7/3.5/4.5 mm(all-hex head) 

6711505 6711505 08.301.11.6711505 Cortex screw 1.5x5mm TAV 

6711506 6711506 08.301.11.6711506 Cortex screw 1.5x6mm TAV 

6711507 6711507 08.301.11.6711507 Cortex screw 1.5x7mm TAV 

6711508 6711508 08.301.11.6711508 Cortex screw 1.5x8mm TAV 

6711509 6711509 08.301.11.6711509 Cortex screw 1.5x9mm TAV 

6711510 6711510 08.301.11.6711510 Cortex screw 1.5x10mm TAV 

6711511 6711511 08.301.11.6711511 Cortex screw 1.5x11mm TAV 

6711512 6711512 08.301.11.6711512 Cortex screw 1.5x12mm TAV 

6711514 6711514 08.301.11.6711514 Cortex screw 1.5x14mm TAV 

6711516 6711516 08.301.11.6711516 Cortex screw 1.5x16mm TAV 

6711518 6711518 08.301.11.6711518 Cortex screw 1.5x18mm TAV 

6711520 6711520 08.301.11.6711520 Cortex screw 1.5x20mm TAV 

6711522 6711522 08.301.11.6711522 Cortex screw 1.5x22mm TAV 

6711524 6711524 08.301.11.6711524 Cortex screw 1.5x24mm TAV 

6711526 6711526 08.301.11.6711526 Cortex screw 1.5x26mm TAV 

6711528 6711528 08.301.11.6711528 Cortex screw 1.5x28mm TAV 

6711530 6711530 08.301.11.6711530 Cortex screw 1.5x30mm TAV 

6711532 6711532 08.301.11.6711532 Cortex screw 1.5x32mm TAV 

6711534 6711534 08.301.11.6711534 Cortex screw 1.5x34mm TAV 

6711536 6711536 08.301.11.6711536 Cortex screw 1.5x36mm TAV 

6711538 6711538 08.301.11.6711538 Cortex screw 1.5x38mm TAV 

6711540 6711540 08.301.11.6711540 Cortex screw 1.5x40mm TAV 

6712005 6712005 08.301.11.6712005 Cortex screw 2.0x5mm TAV 

6712006 6712006 08.301.11.6712006 Cortex screw 2.0x6mm TAV 

6712007 6712007 08.301.11.6712007 Cortex screw 2.0x7mm TAV 

6712008 6712008 08.301.11.6712008 Cortex screw 2.0x8mm TAV 

6712009 6712009 08.301.11.6712009 Cortex screw 2.0x9mm TAV 

6712010 6712010 08.301.11.6712010 Cortex screw 2.0x10mm TAV 

6712011 6712011 08.301.11.6712011 Cortex screw 2.0x11mm TAV 

6712012 6712012 08.301.11.6712012 Cortex screw 2.0x12mm TAV 

6712014 6712014 08.301.11.6712014 Cortex screw 2.0x14mm TAV 

6712016 6712016 08.301.11.6712016 Cortex screw 2.0x16mm TAV 

6712018 6712018 08.301.11.6712018 Cortex screw 2.0x18mm TAV 

6712020 6712020 08.301.11.6712020 Cortex screw 2.0x20mm TAV 

6712022 6712022 08.301.11.6712022 Cortex screw 2.0x22mm TAV 

6712024 6712024 08.301.11.6712024 Cortex screw 2.0x24mm TAV 

6712026 6712026 08.301.11.6712026 Cortex screw 2.0x26mm TAV 

6712028 6712028 08.301.11.6712028 Cortex screw 2.0x28mm TAV 

6712030 6712030 08.301.11.6712030 Cortex screw 2.0x30mm TAV 

6712032 6712032 08.301.11.6712032 Cortex screw 2.0x32mm TAV 

6712034 6712034 08.301.11.6712034 Cortex screw 2.0x34mm TAV 

6712036 6712036 08.301.11.6712036 Cortex screw 2.0x36mm TAV 

6712038 6712038 08.301.11.6712038 Cortex screw 2.0x38mm TAV 

6712040 6712040 08.301.11.6712040 Cortex screw 2.0x40mm TAV 

6112405 6112405 08.301.11.6112405 Cortex screw 2.4x5mm TAV 

6112406 6112406 08.301.11.6112406 Cortex screw 2.4x6mm TAV 

6112407 6112407 08.301.11.6112407 Cortex screw 2.4x7mm TAV 

6112408 6112408 08.301.11.6112408 Cortex screw 2.4x8mm TAV 

6112409 6112409 08.301.11.6112409 Cortex screw 2.4x9mm TAV 

6112410 6112410 08.301.11.6112410 Cortex screw 2.4x10mm TAV 

6112411 6112411 08.301.11.6112411 Cortex screw 2.4x11mm TAV 

6112412 6112412 08.301.11.6112412 Cortex screw 2.4x12mm TAV 

6112413 6112413 08.301.11.6112413 Cortex screw 2.4x13mm TAV 

6112414 6112414 08.301.11.6112414 Cortex screw 2.4x14mm TAV 

6112416 6112416 08.301.11.6112416 Cortex screw 2.4x16mm TAV 

6112418 6112418 08.301.11.6112418 Cortex screw 2.4x18mm TAV 

6112420 6112420 08.301.11.6112420 Cortex screw 2.4x20mm TAV 

6112422 6112422 08.301.11.6112422 Cortex screw 2.4x22mm TAV 

6112424 6112424 08.301.11.6112424 Cortex screw 2.4x24mm TAV 

6112426 6112426 08.301.11.6112426 Cortex screw 2.4x26mm TAV 

6112428 6112428 08.301.11.6112428 Cortex screw 2.4x28mm TAV 

6112430 6112430 08.301.11.6112430 Cortex screw 2.4x30mm TAV 



7 

PRODUCTS IMAGE PART# 2019 SHORT CODE 2019 LONG CODE DESCRIPTION SPECIFICATIONS MATERIAL 

6112432 6112432 08.301.11.6112432 Cortex screw 2.4x32mm TAV 

6112434 6112434 08.301.11.6112434 Cortex screw 2.4x34mm TAV 

6112436 6112436 08.301.11.6112436 Cortex screw 2.4x36mm TAV 

6112438 6112438 08.301.11.6112438 Cortex screw 2.4x38mm TAV 

6112440 6112440 08.301.11.6112440 Cortex screw 2.4x40mm TAV 

6112442 6112442 08.301.11.6112442 Cortex screw 2.4x42mm TAV 

6112444 6112444 08.301.11.6112444 Cortex screw 2.4x44mm TAV 

6112446 6112446 08.301.11.6112446 Cortex screw 2.4x46mm TAV 

6112448 6112448 08.301.11.6112448 Cortex screw 2.4x48mm TAV 

6112450 6112450 08.301.11.6112450 Cortex screw 2.4x50mm TAV 

6112706 6112706 08.301.11.6112706 Cortex screw 2.7×6mm TAV 

6112708 6112708 08.301.11.6112708 Cortex screw 2.7×8mm TAV 

6112710 6112710 08.301.11.6112710 Cortex screw 2.7×10mm TAV 

6112712 6112712 08.301.11.6112712 Cortex screw 2.7×12mm TAV 

6112714 6112714 08.301.11.6112714 Cortex screw 2.7×14mm TAV 

6112716 6112716 08.301.11.6112716 Cortex screw 2.7×16mm TAV 

6112718 6112718 08.301.11.6112718 Cortex screw 2.7×18mm TAV 

6112720 6112720 08.301.11.6112720 Cortex screw 2.7×20mm TAV 

6112722 6112722 08.301.11.6112722 Cortex screw 2.7×22mm TAV 

6112724 6112724 08.301.11.6112724 Cortex screw 2.7×24mm TAV 

6112726 6112726 08.301.11.6112726 Cortex screw 2.7×26mm TAV 

6112728 6112728 08.301.11.6112728 Cortex screw 2.7×28mm TAV 

6112730 6112730 08.301.11.6112730 Cortex screw 2.7×30mm TAV 

6112732 6112732 08.301.11.6112732 Cortex screw 2.7×32mm TAV 

6112734 6112734 08.301.11.6112734 Cortex screw 2.7×34mm TAV 

6112736 6112736 08.301.11.6112736 Cortex screw 2.7×36mm TAV 

6112738 6112738 08.301.11.6112738 Cortex screw 2.7×38mm TAV 

6112740 6112740 08.301.11.6112740 Cortex screw 2.7×40mm TAV 

6112742 6112742 08.301.11.6112742 Cortex screw 2.7×42mm TAV 

6112744 6112744 08.301.11.6112744 Cortex screw 2.7×44mm TAV 

6112746 6112746 08.301.11.6112746 Cortex screw 2.7×46mm TAV 

6112748 6112748 08.301.11.6112748 Cortex screw 2.7×48mm TAV 

6112750 6112750 08.301.11.6112750 Cortex screw 2.7×50mm TAV 

6112752 6112752 08.301.11.6112752 Cortex screw 2.7×52mm TAV 

6112754 6112754 08.301.11.6112754 Cortex screw 2.7×54mm TAV 

6112756 6112756 08.301.11.6112756 Cortex screw 2.7×56mm TAV 

6112758 6112758 08.301.11.6112758 Cortex screw 2.7×58mm TAV 

6112760 6112760 08.301.11.6112760 Cortex screw 2.7×60mm TAV 

6133510 6133510 08.301.11.6133510 Cortex screw 3.5×10mm TAV 

6133512 6133512 08.301.11.6133512 Cortex screw 3.5×12mm TAV 

6133514 6133514 08.301.11.6133514 Cortex screw 3.5×14mm TAV 

6133516 6133516 08.301.11.6133516 Cortex screw 3.5×16mm TAV 

6133518 6133518 08.301.11.6133518 Cortex screw 3.5×18mm TAV 

6133520 6133520 08.301.11.6133520 Cortex screw 3.5×20mm TAV 

6133522 6133522 08.301.11.6133522 Cortex screw 3.5×22mm TAV 

6133524 6133524 08.301.11.6133524 Cortex screw 3.5×24mm TAV 

6133526 6133526 08.301.11.6133526 Cortex screw 3.5×26mm TAV 

6133528 6133528 08.301.11.6133528 Cortex screw 3.5×28mm TAV 

6133530 6133530 08.301.11.6133530 Cortex screw 3.5×30mm TAV 

6133532 6133532 08.301.11.6133532 Cortex screw 3.5×32mm TAV 

6133534 6133534 08.301.11.6133534 Cortex screw 3.5×34mm TAV 

6133536 6133536 08.301.11.6133536 Cortex screw 3.5×36mm TAV 

6133538 6133538 08.301.11.6133538 Cortex screw 3.5×38mm TAV 

6133540 6133540 08.301.11.6133540 Cortex screw 3.5×40mm TAV 

6133542 6133542 08.301.11.6133542 Cortex screw 3.5×42mm TAV 

6133544 6133544 08.301.11.6133544 Cortex screw 3.5×44mm TAV 

6133546 6133546 08.301.11.6133546 Cortex screw 3.5×46mm TAV 

6133548 6133548 08.301.11.6133548 Cortex screw 3.5×48mm TAV 

6133550 6133550 08.301.11.6133550 Cortex screw 3.5×50mm TAV 

6134510 6134510 08.301.11.6134510 Cortex screw 4.5×10mm TAV 

6134512 6134512 08.301.11.6134512 Cortex screw 4.5×12mm TAV 

6134514 6134514 08.301.11.6134514 Cortex screw 4.5×14mm TAV 

6134516 6134516 08.301.11.6134516 Cortex screw 4.5×16mm TAV 

6134518 6134518 08.301.11.6134518 Cortex screw 4.5×18mm TAV 

6134520 6134520 08.301.11.6134520 Cortex screw 4.5×20mm TAV 

6134522 6134522 08.301.11.6134522 Cortex screw 4.5×22mm TAV 

6134524 6134524 08.301.11.6134524 Cortex screw 4.5×24mm TAV 

6134526 6134526 08.301.11.6134526 Cortex screw 4.5×26mm TAV 

6134528 6134528 08.301.11.6134528 Cortex screw 4.5×28mm TAV 

6134530 6134530 08.301.11.6134530 Cortex screw 4.5×30mm TAV 

6134532 6134532 08.301.11.6134532 Cortex screw 4.5×32mm TAV 

6134534 6134534 08.301.11.6134534 Cortex screw 4.5×34mm TAV 

6134536 6134536 08.301.11.6134536 Cortex screw 4.5×36mm TAV 

6134538 6134538 08.301.11.6134538 Cortex screw 4.5×38mm TAV 

6134540 6134540 08.301.11.6134540 Cortex screw 4.5×40mm TAV 

6134542 6134542 08.301.11.6134542 Cortex screw 4.5×42mm TAV 

6134544 6134544 08.301.11.6134544 Cortex screw 4.5×44mm TAV 

6134546 6134546 08.301.11.6134546 Cortex screw 4.5×46mm TAV 

6134548 6134548 08.301.11.6134548 Cortex screw 4.5×48mm TAV 

6134550 6134550 08.301.11.6134550 Cortex screw 4.5×50mm TAV 

6134552 6134552 08.301.11.6134552 Cortex screw 4.5×52mm TAV 

6134554 6134554 08.301.11.6134554 Cortex screw 4.5×54mm TAV 

6134556 6134556 08.301.11.6134556 Cortex screw 4.5×56mm TAV 

6134558 6134558 08.301.11.6134558 Cortex screw 4.5×58mm TAV 

6134560 6134560 08.301.11.6134560 Cortex screw 4.5×60mm TAV 

6134562 6134562 08.301.11.6134562 Cortex screw 4.5×62mm TAV 

6134564 6134564 08.301.11.6134564 Cortex screw 4.5×64mm TAV 

6134566 6134566 08.301.11.6134566 Cortex screw 4.5×66mm TAV 

6134568 6134568 08.301.11.6134568 Cortex screw 4.5×68mm TAV 

6134570 6134570 08.301.11.6134570 Cortex screw 4.5×70mm TAV 

6132706 6132706 08.301.11.6132706 Cortex screw (flat head) 2.7x6mm TAV 

6132708 6132708 08.301.11.6132708 Cortex screw (flat head) 2.7x8mm TAV 

6132710 6132710 08.301.11.6132710 Cortex screw (flat head) 2.7x10mm TAV 

6132712 6132712 08.301.11.6132712 Cortex screw (flat head) 2.7x12mm TAV 

6132714 6132714 08.301.11.6132714 Cortex screw (flat head) 2.7x14mm TAV 



8 

PRODUCTS IMAGE PART# 2019 SHORT CODE 2019 LONG CODE DESCRIPTION SPECIFICATIONS MATERIAL 

6132716 6132716 08.301.11.6132716 Cortex screw (flat head) 2.7x16mm TAV 

6132718 6132718 08.301.11.6132718 Cortex screw (flat head) 2.7x18mm TAV 

6132720 6132720 08.301.11.6132720 Cortex screw (flat head) 2.7x20mm TAV 

6132722 6132722 08.301.11.6132722 Cortex screw (flat head) 2.7x22mm TAV 

6132724 6132724 08.301.11.6132724 Cortex screw (flat head) 2.7x24mm TAV 

6132726 6132726 08.301.11.6132726 Cortex screw (flat head) 2.7x26mm TAV 

6132728 6132728 08.301.11.6132728 Cortex screw (flat head) 2.7x28mm TAV 

6132730 6132730 08.301.11.6132730 Cortex screw (flat head) 2.7x30mm TAV 

6132732 6132732 08.301.11.6132732 Cortex screw (flat head) 2.7x32mm TAV 

6132734 6132734 08.301.11.6132734 Cortex screw (flat head) 2.7x34mm TAV 

6132736 6132736 08.301.11.6132736 Cortex screw (flat head) 2.7x36mm TAV 

6132738 6132738 08.301.11.6132738 Cortex screw (flat head) 2.7x38mm TAV 

6132740 6132740 08.301.11.6132740 Cortex screw (flat head) 2.7x40mm TAV 

6132742 6132742 08.301.11.6132742 Cortex screw (flat head) 2.7x42mm TAV 

6132744 6132744 08.301.11.6132744 Cortex screw (flat head) 2.7x44mm TAV 

6132746 6132746 08.301.11.6132746 Cortex screw (flat head) 2.7x46mm TAV 

6132748 6132748 08.301.11.6132748 Cortex screw (flat head) 2.7x48mm TAV 

6132750 6132750 08.301.11.6132750 Cortex screw (flat head) 2.7x50mm TAV 

6132752 6132752 08.301.11.6132752 Cortex screw (flat head) 2.7x52mm TAV 

6132754 6132754 08.301.11.6132754 Cortex screw (flat head) 2.7x54mm TAV 

6132756 6132756 08.301.11.6132756 Cortex screw (flat head) 2.7x56mm TAV 

6132758 6132758 08.301.11.6132758 Cortex screw (flat head) 2.7x58mm TAV 

6132760 6132760 08.301.11.6132760 Cortex screw (flat head) 2.7x60mm TAV 

6132762 6132762 08.301.11.6132762 Cortex screw (flat head) 2.7x62mm TAV 

6132764 6132764 08.301.11.6132764 Cortex screw (flat head) 2.7x64mm TAV 

6132766 6132766 08.301.11.6132766 Cortex screw (flat head) 2.7x66mm TAV 

6132768 6132768 08.301.11.6132768 Cortex screw (flat head) 2.7x68mm TAV 

6132770 6132770 08.301.11.6132770 Cortex screw (flat head) 2.7x70mm TAV 

6153510 6153510 08.301.11.6153510 Cortex screw (flat head) 3.5x10mm TAV 

6153512 6153512 08.301.11.6153512 Cortex screw (flat head) 3.5x12mm TAV 

6153514 6153514 08.301.11.6153514 Cortex screw (flat head) 3.5x14mm TAV 

6153516 6153516 08.301.11.6153516 Cortex screw (flat head) 3.5x16mm TAV 

6153518 6153518 08.301.11.6153518 Cortex screw (flat head) 3.5x18mm TAV 

6153520 6153520 08.301.11.6153520 Cortex screw (flat head) 3.5x20mm TAV 

6153522 6153522 08.301.11.6153522 Cortex screw (flat head) 3.5x22mm TAV 

6153524 6153524 08.301.11.6153524 Cortex screw (flat head) 3.5x24mm TAV 

6153526 6153526 08.301.11.6153526 Cortex screw (flat head) 3.5x26mm TAV 

6153528 6153528 08.301.11.6153528 Cortex screw (flat head) 3.5x28mm TAV 

6153530 6153530 08.301.11.6153530 Cortex screw (flat head) 3.5x30mm TAV 

6153532 6153532 08.301.11.6153532 Cortex screw (flat head) 3.5x32mm TAV 

6153534 6153534 08.301.11.6153534 Cortex screw (flat head) 3.5x34mm TAV 

6153536 6153536 08.301.11.6153536 Cortex screw (flat head) 3.5x36mm TAV 

6153538 6153538 08.301.11.6153538 Cortex screw (flat head) 3.5x38mm TAV 

6153540 6153540 08.301.11.6153540 Cortex screw (flat head) 3.5x40mm TAV 

6153542 6153542 08.301.11.6153542 Cortex screw (flat head) 3.5x42mm TAV 

6153544 6153544 08.301.11.6153544 Cortex screw (flat head) 3.5x44mm TAV 

6153546 6153546 08.301.11.6153546 Cortex screw (flat head) 3.5x46mm TAV 

6153548 6153548 08.301.11.6153548 Cortex screw (flat head) 3.5x48mm TAV 

6153550 6153550 08.301.11.6153550 Cortex screw (flat head) 3.5x50mm TAV 

21. Cancellous Bone Screws 4.0/6.5 mm(all-hex head) 

6144010 6144010 08.301.01.6144010 Cancellous screw(full thread) 4.0×10mm TAV 

6144012 6144012 08.301.01.6144012 Cancellous screw(full thread) 4.0×12mm TAV 

6144014 6144014 08.301.01.6144014 Cancellous screw(full thread) 4.0×14mm TAV 

6144016 6144016 08.301.01.6144016 Cancellous screw(full thread) 4.0×16mm TAV 

6144018 6144018 08.301.01.6144018 Cancellous screw(full thread) 4.0×18mm TAV 

6144020 6144020 08.301.01.6144020 Cancellous screw(full thread) 4.0×20mm TAV 

6144022 6144022 08.301.01.6144022 Cancellous screw(full thread) 4.0×22mm TAV 

6144024 6144024 08.301.01.6144024 Cancellous screw(full thread) 4.0×24mm TAV 

6144026 6144026 08.301.01.6144026 Cancellous screw(full thread) 4.0×26mm TAV 

6144028 6144028 08.301.01.6144028 Cancellous screw(full thread) 4.0×28mm TAV 

6144030 6144030 08.301.01.6144030 Cancellous screw(full thread) 4.0×30mm TAV 

6144032 6144032 08.301.01.6144032 Cancellous screw(full thread) 4.0×32mm TAV 

6144034 6144034 08.301.01.6144034 Cancellous screw(full thread) 4.0×34mm TAV 

6144036 6144036 08.301.01.6144036 Cancellous screw(full thread) 4.0×36mm TAV 

6144038 6144038 08.301.01.6144038 Cancellous screw(full thread) 4.0×38mm TAV 

6144040 6144040 08.301.01.6144040 Cancellous screw(full thread) 4.0×40mm TAV 

6144042 6144042 08.301.01.6144042 Cancellous screw(full thread) 4.0×42mm TAV 

6144044 6144044 08.301.01.6144044 Cancellous screw(full thread) 4.0×44mm TAV 

6144046 6144046 08.301.01.6144046 Cancellous screw(full thread) 4.0×46mm TAV 

6144048 6144048 08.301.01.6144048 Cancellous screw(full thread) 4.0×48mm TAV 

6144050 6144050 08.301.01.6144050 Cancellous screw(full thread) 4.0×50mm TAV 

6154020 6154020 08.301.01.6154020 Cancellous screw(half thread) 4.0×20×8mm TAV 

6154022 6154022 08.301.01.6154022 Cancellous screw(half thread) 4.0×22×9mm TAV 

6154024 6154024 08.301.01.6154024 Cancellous screw(half thread) 4.0×24×10mm TAV 

6154026 6154026 08.301.01.6154026 Cancellous screw(half thread) 4.0×26×12mm TAV 

6154028 6154028 08.301.01.6154028 Cancellous screw(half thread) 4.0×28×14mm TAV 

6154030 6154030 08.301.01.6154030 Cancellous screw(half thread) 4.0×30×14mm TAV 

6154032 6154032 08.301.01.6154032 Cancellous screw(half thread) 4.0×32×14mm TAV 

6154034 6154034 08.301.01.6154034 Cancellous screw(half thread) 4.0×34×14mm TAV 

6154036 6154036 08.301.01.6154036 Cancellous screw(half thread) 4.0×36×14mm TAV 

6154038 6154038 08.301.01.6154038 Cancellous screw(half thread) 4.0×38×14mm TAV 

6154040 6154040 08.301.01.6154040 Cancellous screw(half thread) 4.0×40×14mm TAV 

6154042 6154042 08.301.01.6154042 Cancellous screw(half thread) 4.0×42×15mm TAV 

6154044 6154044 08.301.01.6154044 Cancellous screw(half thread) 4.0×44×15mm TAV 

6154046 6154046 08.301.01.6154046 Cancellous screw(half thread) 4.0×46×16mm TAV 

6154048 6154048 08.301.01.6154048 Cancellous screw(half thread) 4.0×48×16mm TAV 

6154050 6154050 08.301.01.6154050 Cancellous screw(half thread) 4.0×50×16mm TAV 

6146530 6146530 08.301.11.6146530 Cancellous screw(full thread) 6.5×30mm TAV 

6146535 6146535 08.301.11.6146535 Cancellous screw(full thread) 6.5×35mm TAV 

6146540 6146540 08.301.11.6146540 Cancellous screw(full thread) 6.5×40mm TAV 

6146545 6146545 08.301.11.6146545 Cancellous screw(full thread) 6.5×45mm TAV 

6146550 6146550 08.301.01.6146550 Cancellous screw(full thread) 6.5×50mm TAV 

6146555 6146555 08.301.01.6146555 Cancellous screw(full thread) 6.5×55mm TAV 

6146560 6146560 08.301.01.6146560 Cancellous screw(full thread) 6.5×60mm TAV 

6146565 6146565 08.301.01.6146565 Cancellous screw(full thread) 6.5×65mm TAV 



9 

PRODUCTS IMAGE PART# 2019 SHORT CODE 2019 LONG CODE DESCRIPTION SPECIFICATIONS MATERIAL 

6146570 6146570 08.301.01.6146570 Cancellous screw(full thread) 6.5×70mm TAV 

6146575 6146575 08.301.01.6146575 Cancellous screw(full thread) 6.5×75mm TAV 

6146580 6146580 08.301.01.6146580 Cancellous screw(full thread) 6.5×80mm TAV 

6146585 6146585 08.301.01.6146585 Cancellous screw(full thread) 6.5×85mm TAV 

6146590 6146590 08.301.01.6146590 Cancellous screw(full thread) 6.5×90mm TAV 

6146595 6146595 08.301.01.6146595 Cancellous screw(full thread) 6.5×95mm TAV 

6146596 6146596 08.301.01.6146596 Cancellous screw(full thread) 6.5×96mm TAV 

6146597 6146597 08.301.01.6146597 Cancellous screw(full thread) 6.5×105mm TAV 

6146598 6146598 08.301.01.6146598 Cancellous screw(full thread) 6.5×110mm TAV 

6146599 6146599 08.301.01.6146599 Cancellous screw(full thread) 6.5×115mm TAV 

6146600 6146600 08.301.01.6146600 Cancellous screw(full thread) 6.5×120mm TAV 

6176550 6176550 08.301.01.6176550 Cancellous screw(half thread-32mm) 6.5×50×32mm TAV 

6176555 6176555 08.301.01.6176555 Cancellous screw(half thread-32mm) 6.5×55×32mm TAV 

6176560 6176560 08.301.01.6176560 Cancellous screw(half thread-32mm) 6.5×60×32mm TAV 

6176565 6176565 08.301.01.6176565 Cancellous screw(half thread-32mm) 6.5×65×32mm TAV 

6176570 6176570 08.301.01.6176570 Cancellous screw(half thread-32mm) 6.5×70×32mm TAV 

6176575 6176575 08.301.01.6176575 Cancellous screw(half thread-32mm) 6.5×75×32mm TAV 

6176580 6176580 08.301.01.6176580 Cancellous screw(half thread-32mm) 6.5×80×32mm TAV 

6176585 6176585 08.301.01.6176585 Cancellous screw(half thread-32mm) 6.5×85×32mm TAV 

6176590 6176590 08.301.01.6176590 Cancellous screw(half thread-32mm) 6.5×90×32mm TAV 

6176595 6176595 08.301.01.6176595 Cancellous screw(half thread-32mm) 6.5×95×32mm TAV 

6176596 6176596 08.301.01.6176596 Cancellous screw(half thread-32mm) 6.5×100×32mm TAV 

6176597 6176597 08.301.01.6176597 Cancellous screw(half thread-32mm) 6.5×105×32mm TAV 

6176598 6176598 08.301.01.6176598 Cancellous screw(half thread-32mm) 6.5×110×32mm TAV 

6176599 6176599 08.301.01.6176599 Cancellous screw(half thread-32mm) 6.5×115×32mm TAV 

6176600 6176600 08.301.01.6176600 Cancellous screw(half thread-32mm) 6.5×120×32mm TAV 

6166550 6166550 08.301.01.6166550 Cancellous screw(half thread-16mm) 6.5x50mm TAV 

6166555 6166555 08.301.01.6166555 Cancellous screw(half thread-16mm) 6.5x55mm TAV 

6166560 6166560 08.301.01.6166560 Cancellous screw(half thread-16mm) 6.5x60mm TAV 

6166565 6166565 08.301.01.6166565 Cancellous screw(half thread-16mm) 6.5x65mm TAV 

6166570 6166570 08.301.01.6166570 Cancellous screw(half thread-16mm) 6.5x70mm TAV 

6166575 6166575 08.301.01.6166575 Cancellous screw(half thread-16mm) 6.5x75mm TAV 

6166580 6166580 08.301.01.6166580 Cancellous screw(half thread-16mm) 6.5x80mm TAV 

6166585 6166585 08.301.01.6166585 Cancellous screw(half thread-16mm) 6.5x85mm TAV 

6166590 6166590 08.301.01.6166590 Cancellous screw(half thread-16mm) 6.5x90mm TAV 

6166595 6166595 08.301.01.6166595 Cancellous screw(half thread-16mm) 6.5x95mm TAV 

6166596 6166596 08.301.01.6166596 Cancellous screw(half thread-16mm) 6.5x100mm TAV 

6166597 6166597 08.301.01.6166597 Cancellous screw(half thread-16mm) 6.5x105mm TAV 

6166598 6166598 08.301.01.6166598 Cancellous screw(half thread-16mm) 6.5x110mm TAV 

6166599 6166599 08.301.01.6166599 Cancellous screw(half thread-16mm) 6.5x115mm TAV 

6166600 6166600 08.301.01.6166600 Cancellous screw(half thread-16mm) 6.5x120mm TAV 

22.Locking Screws 1.5/2.0/2.4/2.7 (star head) 

3181506 300181506 08.311.01.300181506 Self-tapping Locking screw 1.5×6mm TAV 

3181507 300181507 08.311.01.300181507 Self-tapping Locking screw 1.5×7mm TAV 

3181508 300181508 08.311.01.300181508 Self-tapping Locking screw 1.5×8mm TAV 

3181509 300181509 08.311.01.300181509 Self-tapping Locking screw 1.5×9mm TAV 

3181510 300181510 08.311.01.300181510 Self-tapping Locking screw 1.5×10mm TAV 

3181511 300181511 08.311.01.300181511 Self-tapping Locking screw 1.5×11mm TAV 

3181512 300181512 08.311.01.300181512 Self-tapping Locking screw 1.5×12mm TAV 

3181514 300181514 08.311.01.300181514 Self-tapping Locking screw 1.5×14mm TAV 

3181516 300181516 08.311.01.300181516 Self-tapping Locking screw 1.5×16mm TAV 

3181518 300181518 08.311.01.300181518 Self-tapping Locking screw 1.5×18mm TAV 

3181520 300181520 08.311.01.300181520 Self-tapping Locking screw 1.5×20mm TAV 

3181522 300181522 08.311.01.300181522 Self-tapping Locking screw 1.5×22mm TAV 

3181524 300181524 08.311.01.300181524 Self-tapping Locking screw 1.5×24mm TAV 

3182008 300182008 08.311.01.300182008 Self-tapping Locking screw 2.0×8mm TAV 

3182009 300182009 08.311.01.300182009 Self-tapping Locking screw 2.0×9mm TAV 

3182010 300182010 08.311.01.300182010 Self-tapping Locking screw 2.0×10mm TAV 

3182011 300182011 08.311.01.300182011 Self-tapping Locking screw 2.0×11mm TAV 

3182012 300182012 08.311.01.300182012 Self-tapping Locking screw 2.0×12mm TAV 

3182014 300182014 08.311.01.300182014 Self-tapping Locking screw 2.0×14mm TAV 

3182016 300182016 08.311.01.300182016 Self-tapping Locking screw 2.0×16mm TAV 

3182018 300182018 08.311.01.300182018 Self-tapping Locking screw 2.0×18mm TAV 

3182020 300182020 08.311.01.300182020 Self-tapping Locking screw 2.0×20mm TAV 

3182022 300182022 08.311.01.300182022 Self-tapping Locking screw 2.0×22mm TAV 

3182024 300182024 08.311.01.300182024 Self-tapping Locking screw 2.0×24mm TAV 

3182026 300182026 08.311.01.300182026 Self-tapping Locking screw 2.0×26mm TAV 

3182028 300182028 08.311.01.300182028 Self-tapping Locking screw 2.0×28mm TAV 

3182030 300182030 08.311.01.300182030 Self-tapping Locking screw 2.0×30mm TAV 

3182032 300182032 08.311.01.300182032 Self-tapping Locking screw 2.0×32mm TAV 

3182407 300182407 08.311.01.300182407 Self-tapping Locking screw 2.4×7mm TAV 

3182408 300182408 08.311.01.300182408 Self-tapping Locking screw 2.4×8mm TAV 

3182409 300182409 08.311.01.300182409 Self-tapping Locking screw 2.4×9mm TAV 

3182410 300182410 08.311.01.300182410 Self-tapping Locking screw 2.4×10mm TAV 

3182411 300182411 08.311.01.300182411 Self-tapping Locking screw 2.4×11mm TAV 

3182412 300182412 08.311.01.300182412 Self-tapping Locking screw 2.4×12mm TAV 

3182414 300182414 08.311.01.300182414 Self-tapping Locking screw 2.4×14mm TAV 

3182416 300182416 08.311.01.300182416 Self-tapping Locking screw 2.4×16mm TAV 

3182418 300182418 08.311.01.300182418 Self-tapping Locking screw 2.4×18mm TAV 

3182420 300182420 08.311.01.300182420 Self-tapping Locking screw 2.4×20mm TAV 

3182422 300182422 08.311.01.300182422 Self-tapping Locking screw 2.4×22mm TAV 

3182424 300182424 08.311.01.300182424 Self-tapping Locking screw 2.4×24mm TAV 

3182426 300182426 08.311.01.300182426 Self-tapping Locking screw 2.4×26mm TAV 

3182428 300182428 08.311.01.300182428 Self-tapping Locking screw 2.4×28mm TAV 

3182430 300182430 08.311.01.300182430 Self-tapping Locking screw 2.4×30mm TAV 

3182432 300182432 08.311.01.300182432 Self-tapping Locking screw 2.4×32mm TAV 

3182708 300182708 08.311.01.300182708 Self-tapping Locking screw 2.7x8mm TAV 

3182710 300182710 08.311.01.300182710 Self-tapping Locking screw 2.7x10mm TAV 

3182712 300182712 08.311.01.300182712 Self-tapping Locking screw 2.7x12mm TAV 

3182714 300182714 08.311.01.300182714 Self-tapping Locking screw 2.7x14mm TAV 

3182716 300182716 08.311.01.300182716 Self-tapping Locking screw 2.7x16mm TAV 

3182718 300182718 08.311.01.300182718 Self-tapping Locking screw 2.7x18mm TAV 

3182720 300182720 08.311.01.300182720 Self-tapping Locking screw 2.7x20mm TAV 

3182722 300182722 08.311.01.300182722 Self-tapping Locking screw 2.7x22mm TAV 

3182724 300182724 08.311.01.300182724 Self-tapping Locking screw 2.7x24mm TAV 



10 

PRODUCTS IMAGE PART# 2019 SHORT CODE 2019 LONG CODE DESCRIPTION SPECIFICATIONS MATERIAL 

3182726 300182726 08.311.01.300182726 Self-tapping Locking screw 2.7x26mm TAV 

3182728 300182728 08.311.01.300182728 Self-tapping Locking screw 2.7x28mm TAV 

3182730 300182730 08.311.01.300182730 Self-tapping Locking screw 2.7x30mm TAV 

3182732 300182732 08.311.01.300182732 Self-tapping Locking screw 2.7x32mm TAV 

3182734 300182734 08.311.01.300182734 Self-tapping Locking screw 2.7x34mm TAV 

3182736 300182736 08.311.01.300182736 Self-tapping Locking screw 2.7x36mm TAV 

3182738 300182738 08.311.01.300182738 Self-tapping Locking screw 2.7x38mm TAV 

3182740 300182740 08.311.01.300182740 Self-tapping Locking screw 2.7x40mm TAV 

3182742 300182742 08.311.01.300182742 Self-tapping Locking screw 2.7x42mm TAV 

3182744 300182744 08.311.01.300182744 Self-tapping Locking screw 2.7x44mm TAV 

3182746 300182746 08.311.01.300182746 Self-tapping Locking screw 2.7x46mm TAV 

3182748 300182748 08.311.01.300182748 Self-tapping Locking screw 2.7x48mm TAV 

3182750 300182750 08.311.01.300182750 Self-tapping Locking screw 2.7x50mm TAV 

3182755 300182755 08.311.01.300182755 Self-tapping Locking screw 2.7x55mm TAV 

3182760 300182760 08.311.01.300182760 Self-tapping Locking screw 2.7x60mm TAV 

23. Locking Screws 3.5/5.0 mm (star head)

1983510 100983510 08.311.01.100983510 Self-tapping Locking screw 3.5x10mm TAV 

1983512 100983512 08.311.01.100983512 Self-tapping Locking screw 3.5x12mm TAV 

1983514 100983514 08.311.01.100983514 Self-tapping Locking screw 3.5x14mm TAV 

1983516 100983516 08.311.01.100983516 Self-tapping Locking screw 3.5x16mm TAV 

1983518 100983518 08.311.01.100983518 Self-tapping Locking screw 3.5x18mm TAV 

1983520 100983520 08.311.01.100983520 Self-tapping Locking screw 3.5x20mm TAV 

1983522 100983522 08.311.01.100983522 Self-tapping Locking screw 3.5x22mm TAV 

1983524 100983524 08.311.01.100983524 Self-tapping Locking screw 3.5x24mm TAV 

1983526 100983526 08.311.01.100983526 Self-tapping Locking screw 3.5x26mm TAV 

1983528 100983528 08.311.01.100983528 Self-tapping Locking screw 3.5x28mm TAV 

1983530 100983530 08.311.01.100983530 Self-tapping Locking screw 3.5x30mm TAV 

1983532 100983532 08.311.01.100983532 Self-tapping Locking screw 3.5x32mm TAV 

1983534 100983534 08.311.01.100983534 Self-tapping Locking screw 3.5x34mm TAV 

1983536 100983536 08.311.01.100983536 Self-tapping Locking screw 3.5x36mm TAV 

1983538 100983538 08.311.01.100983538 Self-tapping Locking screw 3.5x38mm TAV 

1983540 100983540 08.311.01.100983540 Self-tapping Locking screw 3.5x40mm TAV 

1983542 100983542 08.311.01.100983542 Self-tapping Locking screw 3.5x42mm TAV 

1983544 100983544 08.311.01.100983544 Self-tapping Locking screw 3.5x44mm TAV 

1983546 100983546 08.311.01.100983546 Self-tapping Locking screw 3.5x46mm TAV 

1983548 100983548 08.311.01.100983548 Self-tapping Locking screw 3.5x48mm TAV 

1983550 100983550 08.311.01.100983550 Self-tapping Locking screw 3.5x50mm TAV 

1983555 100983555 08.311.01.100983555 Self-tapping Locking screw 3.5x55mm TAV 

1983560 100983560 08.311.01.100983560 Self-tapping Locking screw 3.5x60mm TAV 

1983565 100983565 08.311.01.100983565 Self-tapping Locking screw 3.5x65mm TAV 

1983570 100983570 08.311.01.100983570 Self-tapping Locking screw 3.5x70mm TAV 

1983575 100983575 08.311.01.100983575 Self-tapping Locking screw 3.5x75mm TAV 

1983580 100983580 08.311.01.100983580 Self-tapping Locking screw 3.5x80mm TAV 

1983585 100983585 08.311.01.100983585 Self-tapping Locking screw 3.5x85mm TAV 

1983590 100983590 08.311.01.100983590 Self-tapping Locking screw 3.5x90mm TAV 

2085010 200085010 08.311.01.200085010 Self-tapping Locking screw 5.0×10mm TAV 

2085012 200085012 08.311.01.200085012 Self-tapping Locking screw 5.0×12mm TAV 

2085014 200085014 08.311.01.200085014 Self-tapping Locking screw 5.0×14mm TAV 

2085016 200085016 08.311.01.200085016 Self-tapping Locking screw 5.0×16mm TAV 

2085018 200085018 08.311.01.200085018 Self-tapping Locking screw 5.0×18mm TAV 

2085020 200085020 08.311.01.200085020 Self-tapping Locking screw 5.0×20mm TAV 

2085022 200085022 08.311.01.200085022 Self-tapping Locking screw 5.0×22mm TAV 

2085024 200085024 08.311.01.200085024 Self-tapping Locking screw 5.0×24mm TAV 

2085026 200085026 08.311.01.200085026 Self-tapping Locking screw 5.0×26mm TAV 

2085028 200085028 08.311.01.200085028 Self-tapping Locking screw 5.0×28mm TAV 

2085030 200085030 08.311.01.200085030 Self-tapping Locking screw 5.0×30mm TAV 

2085032 200085032 08.311.01.200085032 Self-tapping Locking screw 5.0×32mm TAV 

2085034 200085034 08.311.01.200085034 Self-tapping Locking screw 5.0×34mm TAV 

2085036 200085036 08.311.01.200085036 Self-tapping Locking screw 5.0×36mm TAV 

2085038 200085038 08.311.01.200085038 Self-tapping Locking screw 5.0×38mm TAV 

2085040 200085040 08.311.01.200085040 Self-tapping Locking screw 5.0×40mm TAV 

2085042 200085042 08.311.01.200085042 Self-tapping Locking screw 5.0×42mm TAV 

2085044 200085044 08.311.01.200085044 Self-tapping Locking screw 5.0×44mm TAV 

2085046 200085046 08.311.01.200085046 Self-tapping Locking screw 5.0×46mm TAV 

2085048 200085048 08.311.01.200085048 Self-tapping Locking screw 5.0×48mm TAV 

2085050 200085050 08.311.01.200085050 Self-tapping Locking screw 5.0×50mm TAV 

2085055 200085055 08.311.01.200085055 Self-tapping Locking screw 5.0×55mm TAV 

2085060 200085060 08.311.01.200085060 Self-tapping Locking screw 5.0×60mm TAV 

2085065 200085065 08.311.01.200085065 Self-tapping Locking screw 5.0×65mm TAV 

2085070 200085070 08.311.01.200085070 Self-tapping Locking screw 5.0×70mm TAV 

2085075 200085075 08.311.01.200085075 Self-tapping Locking screw 5.0×75mm TAV 

2085080 200085080 08.311.01.200085080 Self-tapping Locking screw 5.0×80mm TAV 

2085085 200085085 08.311.01.200085085 Self-tapping Locking screw 5.0×85mm TAV 

2085090 200085090 08.311.01.200085090 Self-tapping Locking screw 5.0×90mm TAV 

2085095 200085095 08.311.01.200085095 Self-tapping Locking screw 5.0×95mm TAV 

2085100 200085100 08.311.01.200085100 Self-tapping Locking screw 5.0×100mm TAV 

2085105 200085105 08.311.01.200085105 Self-tapping Locking screw 5.0×105mm TAV 

2085110 200085110 08.311.01.200085110 Self-tapping Locking screw 5.0×110mm TAV 

2085115 200085115 08.311.01.200085115 Self-tapping Locking screw 5.0×115mm TAV 

2085120 200085120 08.311.01.200085120 Self-tapping Locking screw 5.0×120mm TAV 

301713510 08.311.01.301713510 Self-tapping Cancellous Locking screw 3.5x10mm TAV 

301713512 08.311.01.301713512 Self-tapping Cancellous Locking screw 3.5x12mm TAV 

301713514 08.311.01.301713514 Self-tapping Cancellous Locking screw 3.5x14mm TAV 

301713516 08.311.01.301713516 Self-tapping Cancellous Locking screw 3.5x16mm TAV 

301713518 08.311.01.301713518 Self-tapping Cancellous Locking screw 3.5x18mm TAV 

301713520 08.311.01.301713520 Self-tapping Cancellous Locking screw 3.5x20mm TAV 

301713522 08.311.01.301713522 Self-tapping Cancellous Locking screw 3.5x22mm TAV 

301713524 08.311.01.301713524 Self-tapping Cancellous Locking screw 3.5x24mm TAV 

301713526 08.311.01.301713526 Self-tapping Cancellous Locking screw 3.5x26mm TAV 

301713528 08.311.01.301713528 Self-tapping Cancellous Locking screw 3.5x28mm TAV 

301713530 08.311.01.301713530 Self-tapping Cancellous Locking screw 3.5x30mm TAV 

301713532 08.311.01.301713532 Self-tapping Cancellous Locking screw 3.5x32mm TAV 

301713534 08.311.01.301713534 Self-tapping Cancellous Locking screw 3.5x34mm TAV 

301713536 08.311.01.301713536 Self-tapping Cancellous Locking screw 3.5x36mm TAV 

301713538 08.311.01.301713538 Self-tapping Cancellous Locking screw 3.5x38mm TAV 



11 

PRODUCTS IMAGE PART# 2019 SHORT CODE 2019 LONG CODE DESCRIPTION SPECIFICATIONS MATERIAL 

301713540 08.311.01.301713540 Self-tapping Cancellous Locking screw 3.5x40mm TAV 

301713542 08.311.01.301713542 Self-tapping Cancellous Locking screw 3.5x42mm TAV 

301713544 08.311.01.301713544 Self-tapping Cancellous Locking screw 3.5x44mm TAV 

301713546 08.311.01.301713546 Self-tapping Cancellous Locking screw 3.5x46mm TAV 

301713548 08.311.01.301713548 Self-tapping Cancellous Locking screw 3.5x48mm TAV 

301713550 08.311.01.301713550 Self-tapping Cancellous Locking screw 3.5x50mm TAV 

301713555 08.311.01.301713555 Self-tapping Cancellous Locking screw 3.5x55mm TAV 

301713560 08.311.01.301713560 Self-tapping Cancellous Locking screw 3.5x60mm TAV 

24. Self-tapping Cannulated Locking screw(hex head)

31200003-SET 08.301.02.31200003-SET 6.5 self tapping cannulated screw set 

301.02.056 301.02.056 08.301.02.056 Locking Screws Case / 

6901802-05 6901802-05 08.301.02.6901802-05 5.0mm Screws Case 

6901803-04 6901803-04 08.301.02.6901803-04 3.5mm Screws Case 

25.Dynamic locking screw- (star head) sterilization packing

31100001-set 08.301.02.31100001-set Instrument Set for Dynamic Locking screw 

26.Cannulated Screws-ball head (hex head)

6090012-SET 6090012-SET 08.301.02.6090012-SET Instrument Set for 4.5mm Cannulated Screws 4.5mm 

30400005-set 08.301.02.30400005-set Instrument Set for 3.5 cannulated screw set 

27. Cannulated Screws-Countersunk head (hex head)

30400003-SET 30400003-SET 08.301.02.30400003-SET Instrument Set for 3.0mm Cannulated screw (Countersunk head) 3.0mm 

6090012-SET 30400002-SET 08.301.02.30400002-SET Instrument Set for 4.5mm Cannulated screw (Countersunk head) 4.5mm 

28. VPS Cannulated Screws=self-tapping cannulated screw(hex head)

30400006-SET 30400006-SET 08.301.02.30400006-SET Instrument Set for VPS Screws(3.0mm, 3.5mm 4.0) 
3.0mm, 3.5mm 
standard/Mini 

30400007-SET 08.301.02.30400007-SET Instrument Set for VPS Screws 4.5mm 4.5mm 

30400008-SET 08.301.02.30400008-SET Instrument Set for VPS Screws 5.0mm 5.0mm 

30400009-SET 08.301.02.30400009-SET Instrument Set for VPS Screws 7.0mm 7.0mm 


	CHINA MEHECO CORPORATION AGOSTO, 2022
	APRESENTAÇÃO DA CHINA MEHECO CORPORATION

	LISTAS DOS PRINCIPAIS PRODUTOS REGISTRADOS NA ANVISA
	I. EQUIPAMENTOS


